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Introduction

This grammar is aimed at an extremely diverse group of potential readers that for
different reasons have chosen to study Bulgarian. It is an elementary grammar, not
an academic grammar of Bulgarian. It is designed to explain in a popular way the
main grammatical particularities of Bulgarian. If you need more detailed
information on Bulgarian grammar you should consult other books.

However, I tried not sacrifice the linguistic accuracy for the sake of simplicity. In
general, I avoided to go into details that are not relevant to the aim of this
grammar, 1.€. to ease the comprehension of the grammatical categories introduced
at the beginners' and intermediate levels of teaching Bulgarian as a foreign
language. I hope that you will be able to find enough information on several topics
of the grammar of Bulgarian.

I hope you will enjoy studying Bulgarian. Good luck!



The Alphabet

The Bulgarian alphabet is a variant of the Cyrillic alphabet. It consists of 30 letters.
In the table below you'll see how they look like, the names of the letters, as well as
the letters or letter combinations of the English variant of the Latin alphabet that
roughly correspond to the Bulgarian letters, and an English word that contains the
same or almost the same sound. In this chapter, and throughout the whole
"Elementary On-Line Bulgarian Grammar", the accented vowels are underlined.

English
Bulrian Nameothe | Letter! | ApprovSound | pigaan Word
Combin.

Aa ; ; g
b, 0 0B b baby OcOe
B,B ‘B”b |v ‘Visa ‘BES&
Ir I'b g garden rpajauHa
I, n b d doctor JTIOKTOP
E, e ’e |e ’Edward ’Ez[yapz[
K, x Kb S measure kap 'embers'
3,3 ‘31, |z ‘zone ‘39Ha
U, u u 1 idiot UJINOT
fI, u U KpaTKo Y May Mai
K, x ‘KL k, c, ck, q ‘cake, stock, quartz ‘KQfIK, CTOKa, KBApII
J o ‘H’b |1 ’Lily, lot ‘H@m, nonka 'boat’
|M, M ‘M’b |m ’minute ‘MI/IHYTa
H, n ‘H’b |n ’net ‘HQ no’
0O, o0 0 0 Bob 000 'beans'
IL o ‘H’b |p ‘Peter ‘HQT’bp
P,p pb r rose po3a
C,c Ch S salt (o))
T, T ’T’b |t ’title ’Tnga
V,y y u, 00 put, book oyk beech’
D, ¢ bb f, ph fine, telephone ¢bun, TenedoH
X, X ‘X’b |h ‘hotel ‘XOTQJ'I




. ap 'king', kBapi,
I, i b ts, tz, zz bets, quartz, pizza ;I;II)I& g Pi
U, u “-I’b |ch ‘charm ‘q@p
‘LH, i ‘um |sh ‘show ‘mgy
I, m b (mrp)  |Sht ash tray, washed |miactue 'happiness'
b, b ‘”b (ep ronsMm) |u, a ‘a Bulgarian ‘6§nrapHH
b,b ep MaTbK |- - cubo blue’
IO, 10 10 (iy) u, EW dune, New York |gronu, Hro flng
A, s ‘51 (i1a) |Ya ’yard ‘gpz:

As you can see there are three types of letters:

o Some Bulgarian letters and the sounds they stand for are similar to the
English ones:

Bulgarian English
A (da3za 'phase’ A father
E net 'five' E pet
O mopTH 'shorts' O short
K KHWJIKUM ‘carpet’ K kick
M Mas M May
T Tom T Tom

o Others look like familiar English letters but stand for rather different

sounds:
Bulgarian English

B Banepus A% Valerie
H Hopa N Nora

P Poza R Rose

C Capa S Sarah
Y oyram 'push’ U butcher
X Xapu H Harry

o The rest of the letters look unfamiliar but stand for sounds that are similar to
English sounds:




Bulgarian English
b 0ebe B baby
r rpajadHa G garden
I JTIOKTOP D doctor
K xKap S measure
3 30HA Z zone
n WJINOT I 1diot
" Mai Y May
JI noaka, Jimmm L lot, Lily
I1 [Tetsp P Peter
o (bun F fine
| KBapIl TZ quartz
B! qap CH charm
I 1oy SH show
111 111aCTHE SHT ash tray
b OBJIrapuH U a Bulgarian
IO JIFOHU U dune
A AP YA yard

That leaves only the soft sign b completely without a counterpart in English. This
1s due to its specific function in Bulgarian spelling.

Basic Spelling Rules

Bulgarian orthography is regarded as based on the phonetic and the morphological
principles, i.e. to a great extend there are direct correspondences between letters
and sounds but not always. The most important exceptions to that rule refer to the
soft consonants, and to the phonetic value of the letters b, 1O, 1.

There are 38 (some linguists claim that there are 39) consonants in Bulgarian.
Apart from the nasals m, H, the liquids 11, p and the glide i, that do not participate
in the opposition voiced consonants : voiceless (mute) consonants, and the
"hushes" mx, xk, 4, 1 and the glide i, that do not participate in the opposition hard
(non-palatalized) consonants: soft (palatalized) consonants, all the other




consonants participate in those two main oppositions.

Thirty four consonants come in hard - soft pairs. The soft consonants are
pronounced as though you were pronouncing the hard consonant and an 'y’
simultaneously. As there are severe restrictions on the distribution of the soft
consonants - they can occur only before the non-front vowels a, 5, 0, y but never in
front of another consonant, or in word-final position (i.e. at the end of the word), or
before the front vowels e, u - there are no separate letters assigned for them in the
alphabet. The letters for the hard consonants are used instead followed by the
special letters for the 4 vowels that can come after them: for a, & - 1, for o - bO,
for y - 1O. Here are the hard - soft pairs in alphabetical order followed by some
examples (the accented vowel is underlined):

0 - 0' 0aJ1 - Os1s1 [OaJT - 6'an] (a ball (social event) - white)

B - B' BaJI - BSLJI [BaJ - B'aJ| (a shaft - inert)

I -T' TOJI - I'bOJI [ToJI - T'0i1] (naked - a puddle)

A -A' aaJt - asia [aan - a'an] (given - a share/a part)

a3 - a3’

3 - 3' K032 - K031 [KO3b - K03']" (the trump - to trump)

K - K' KYII - KON [Kym - K'yi1] (a heap - a pot)

JI - JI' JIYK - JIIOK [JIyK - JI'YK] (an onion - an aperture)

M - M' IMMA - QUM UMb - 1uM'B]* (the smoke - to smoke)
H - H' 3BbHA - 3BbHS [3BbHb - 3BbH'B]" (the ringing - to ring)
n - n' cuna - cuns [cuna - cu's ] (he poured - I pour)

p - p' cniopa - cnops [crops - cnop's]’ (the argument - to argue)
¢ - ¢' Capa - capa [capa - c'apa] (Sarah - sulfur)

T-T' Ta- T4 [Ta - T'a] (and, so - she)

b - ¢' don - pvon [hoH - ¢'oH] (a background - a warm wind)
x - X' Xye - Xpoc [xyc - x'yc]

I - I’ map - usap [uap - m'ap] (a king, tzar - a cure, a remedy)

As you can see there is no example for the pair 113 - 13'. You can hardly find one in
the standard language, that is why some linguists question the existence of the
sound 13" [dZ'] at all, and assume that there are 38 consonants in Bulgarian. The
existence of x' and @' is also questionable as they only appear in words of foreign
origin but we'll leave this matter open.

The consonants ok [dzh], x, 4, i1 are always hard, and they do not have soft
counterparts. Consequently, ro, 10, s never appear after them.

As it was mentioned before the soft consonants are pronounced as if the hard
consonant and an 'y' (i) were pronounced simultaneously. So it is natural that the i1
itself also is not a member of a pair - as a matter of fact it does not participate in
this opposition at all.
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Now we can go back to the phonetic value of the letters b, 1O, f. As it was
explained above, they are used to mark the softness of the consonant preceding the
vowels o, y, a/b. The letters FO, S have yet another phonetic value - if they are
used at the beginning of the word or after a vowel they stand for the following
combinations of sounds:

I0=Iy IOHOIIIA [iiyHoIIa](a teenager), KaroTa [Kailyra] (a cabin)
s=ia g0baKa [Ha0bika](an apple), Mas [Mmaiia]
SI=I'b TEPOAT [TepOlbT|(the hero)

There are two other particularities of the Bulgarian orthography:

o There are no special letters for the affricates [dzh], [dz](dzh sounds like the
g in 'change', and dz sounds like the z in the name of the Italian film director
Franco Zeftirelli). A combination of letters is used instead: mx, 13:

JOKYIDKE (a dwarf), KOO (a pocket), A3BH (ting), I3UQT (asphalt)

o The letter 5 can not stay at the end of the word. The letter a appears in stead
of it:

ueTa [uern](I read 3™ p. sg, pres.t.), rpana [rpaas] (the town)

The sound b appears at the end of the word only in a limited number of morphological forms
- the forms for the 1*' person sg and the 3™ person plural in the present tense of the verbs from
the 1" and the 2™ conjugation, and the forms that have the hard variant of the short definite
article.

Basic Rules of Pronunciation

When we discussed the basic spelling rules in Bulgarian it was mentioned that the
Bulgarian orthography is regarded as based on the phonetic and the morphological
principles. This means that, unlike in English, in general the words are pronounced
the way they are spelled, and are spelled the way they are pronounced. There are
two basic types of exceptions to that correspondence between letter and sound.
One of them was discussed in the chapter on the basic spelling rules. There we
discussed sounds for which there are no letters and how you spell them, as well as
letters that are associated with more than one sound and how you pronounce them.

In this chapter we are going to discuss letters and sounds that are basically meant
to have one-to-one correspondence but in certain circumstances fail to do this.
There are three, synchronic by nature, phonetic laws in Bulgarian that cause
discrepancies between letters and sounds: the reduction of the unstressed vowels,




the devoicing of the voiced consonants at the end of the words, and the adjusting of
the voicing of consonant clusters.

The vowel system of Bulgarian consists of six vowels: A, E, U, O, Y, b. As there
1s no distinction between short and long vowels it can be assumed that they are all
short. The accented vowels are engaged in different oppositions: front (E, H) :
non-front (A, b, O, ¥) vowels, labialized (O, ¥): non-labialized (A, b) vowels,
open (E, A, O) : closed (U, b, ¥Y) vowels. However, when the vowels are not
accented the opposition between open and closed vowels is lost, i.e. the unaccented
b and A sound the same, and the unaccented ¥ and O sound more alike than the
accented. Only the front vowels E and U continue to oppose each other even when
they appear in unaccented syllables. Here are some examples (the accented vowel
is underlined):

BaJiA (to take/to pull out) : BB (to breed)
Kart (a floor; a layer) : KbT (a nook, a corner)
caM (alone) : CbM (am)

coya (to point to/at) : cy4a (to suck)
TOK (a heel of a shoe) : TYK (here)
TQUYEH (exact) : TYYEH (succulent)

0eJika (a marten) : OMJIKA (med. herb)
JieK (light) : JIHK (an image)
MeHe (me) : MuHe (he passes, 3" p. sg, pres.t.)

In the examples above A and ‘b, O and ¥, E and ! are stressed and they are fully
opposed to each other. The A sounds like the a in 'father' but a bit shorter, and the
b sounds like the e in 'father' and even more closed. O sounds like the o in 'short’,
and ¥ sounds like 00 in 'book'. E sounds like e in 'Edward' and M sounds like i in
idiot'.

Now let's see what happens when these pairs of vowels appear in unaccented
syllables:

Oabata [0a0HTH] (the grandmother)
I'IBOBT [IBILOBT] (the pigeon)

In the examples above all four unaccented vowels, i.e. the two unaccented a-
sounds in the word '6a6ara’ and the two unaccented b-sounds in the word 'TeaB0BT'
sound exactly the same way - almost as the accented 'b but a little more open, just
like the e in the English words 'mother’, 'brother' etc. This pronunciation is correct
for all unaccented 'a'-s and 's'-s, with one exception only. If the 'a' or 's' sounds
appear in the syllable just before the accented syllable both are pronounced exactly



the same way - almost as the accented A but a little more closed, just like the o in
the English words 'mother' and 'brother":

Oapaban [0bpabaH] (a drum)
KaBbpMa [KbBapMa] (Bulg. dish of highly seasoned meat)
bobarapus [6anrapuiis | (Bulgaria)

For the pair O : ¥ there is only one grade of reduction regardless of their position
towards the stressed syllable. This means that the unaccented O sounds a little like
the ¥, but that's all. It still is a recognizable O. A stronger reduction towards V is
considered non-standard, dialectal. The same is valid for the unaccented V. It
sounds a little like the O but just a little. Here are some examples:

TJIynak [raynak, not riomak] (a fool)
nony [mony, not 1010] (down)
KOMMH [KOMHH, not KyMUH] (a chimney)
nosie [mose, not myne] (a field)

There is no reduction of the unstressed E and U. This means that the unaccented E
doesn't sound at all like I and vice versa. Here are some examples:

nuiie [muie, not muiu] (a chicken)

3es1e [3e1e, not 3e1] (cabbage)

owmnet [Omer, not 6eneT] (a ticket)

TUPEKTOP [AMPEKTOP, Not epekTop] (a director)

You probably remember that in the previous chapter it was mentioned that most of
the consonants in Bulgarian are engaged in the opposition voiced : voiceless
(mute) consonants. These consonants are otherwise identical, only when you
pronounce the voiced consonants the vocal cords also participate, i.e. they are
vibrating. When you pronounce the voiceless consonants the vocal cords are not
vibrating. Most consonants in Bulgarian are paired in voicing. This means that for
each voiced consonant there is a voiceless counterpart but not vice versa. In
addition to that the nasals M and H, the liquids P and JI, and the glide 1 do not
participate at all in that opposition. Like the vowels, they are too sonorous for that.
Here are the voiceless : voiced pairs of consonants in Bulgarian:

xEoe%fn
SRwmm=ET



o: a3
Y: K

The palatal consonants form the same pairs but they are not listed because the
opposition between voiced and voiceless palatal consonants is not relevant to what
we are going to discuss as they appear only before the non-front vowels.

In Bulgarian pronunciation, all voiced consonants at the end of the word are
pronounced like their voiceless counterparts. This is called devoicing of the
consonants. Here are some examples:

podu - pob [pom] (slaves - a slave)

pBbKaBHU - pbKaB [pbKad ] (sleeves - a sleeve)

porose - por [pok] (horns - a horn)

rpajgoBe - rpaj [rpar] (towns - a town)

Tapajexu - Tapaiex [Tapaiem] (hedgehogs - a hedgehog)
paskasu - pa3kas [packac] (stories - a story)

Whenever two or more consonants that participate in the opposition voiced :
voiceless occur next to each other within a word or a cluster of words sharing a
single accent (phonological word), the final consonant influences the voicing of the
whole consonant cluster. This means that if the final consonant is voiced - the
whole lot becomes voiced, and vice versa - if the final consonant is voiceless, all
will be voiceless. This is called consonant assimilation or adjusting the voicing
of consonant clusters. Here are some examples:

pobu - pobcku [pomckH | (slaves - slave, adj.)

Mopagsus - MmopaBcka [Mopadicka] (Moravia - of /from Moravia)

porose - porue [pokue] (horns - a small horn)

rpaioBe - rpaaue [rpatue] (towns - a small town)

IbpKa - IpbXKa [ApbHIKA] (to hold - a handle)

BpB3BaM - Bpb3Ka [BphCKa] (to tie/bind - a tie/link)

MpeJ oJITapa - Ipea cblia [IPeT_ChIb| (in front of the altar - in front of the court)
0e3 amOuIus - 6e3 CMHUCHI [0ec cMHUCHI| (without ambition - without reason)
CBaToOBE - cBaTOa [cBagOa] (in-laws - a wedding)

cpompaM - coop [360p] (to collect - a sum/a total)

ot EBpona - ot apyr rpan [ox_apyk rpat] (from Europe - from another city)
¢ amOuIms - ¢ 1o0pota [3_mo06poTa] (with ambition - with goodness)

The vowels, and the consonants that do not participate in the opposition voiced :
voiceless (i.e. m, H, p, 7, i), as well as the consonant B do not influence the voicing
of the neighbouring consonants. (There is a simple explanation for the strange
behaviour of 'B' - this sound descends from the Indo-European semivowel-U, so no
wonder it sometimes behaves just like the 7, that descends from the Indo-
European semivowel-1.) Here are some examples:



e 1n front of 'B":

podu - pobCTBO [ponCTBO] (slaves - a slavery)
oT Bac [0oT_Bac] (from you)

0e3 Bac [0e3 Bac] (without you)

3aj Bac [3aa_Bac]| (behind you)

| B B [ R M R S ) A

o in front of 'p', ', '™, 'H', 'H":

ot PuMm [oT_puM] (from Rome)

0e3 MeHe [06e3 meHe] (without me)

nox HeOeTo [moa_HebeTo] (under the sky)

H3CIIEBAM - U3JIM3aM - U3UCKBaM [HMCCIIEBaM - U3JIM3aM - U3UCKBaM |(to research - to
go out - to demand)

e 1in front of vowels:

npes oatapa [npea_onrapsb| (in front of the altar)
0e3 amOunus [0e3 amOuimiia] (without ambition)
c amOuIms [¢_amOunumiia] (with ambition)

ot EBpona [oT_eBpomna] (from Europe)

Some Phonetic Rules

The phonetic rules that we are going to discuss in this chapter are more or less of a
diachronic nature. This means that we deal with the reflections in the contemporary
language of sounds or rules that existed in Bulgarian about a millennium ago. We'll
pay special attention to three of them - mutation of -5I-, palatalization, and elision
of -E.-b- .

Mutation of -5I-. Under certain phonetic conditions the letters 51 and E appear
alternatively in different forms of one word, or in related words. Not all the words
that contain the letter $I follow this rule, only words in which the letter I stands for
the Old-Bulgarian 'stp'-vowel that sounded approximately like the English a in
'cat'. The letter 5 appears only in forms where the 'sTs' sound is accented, and
provided there are no palatal consonants or ax, %, 4, 11, i sounds in the same



syllable and in the next syllable, and no front vowels (e, n) in the next syllable. In
case one of these requirements is not satisfied, the letter E appears. Here are some
examples (the accented vowel is underlined):

A E E E
In unaccented | Preceding palatal Preceding /7K, 7K,
syllables consonant or E, U L
in the next syllable
! .
GSLIT (white) GEI0TAa (whiteness) Oest [0er's ] (1bleach, [BEITIO (a name given to
= = I peel) oxen)
IAX (I sang) TICBEI] (a singer) I1€€ (he/she sings) res [HQP'IB] (Ising)
. T'OJIEMHUHA (size, .
roiasima (big f) magnitude) T'OJIEMH (big pl)
JISAATO (a summer) JICTA (summers) JICTCH (summer attr. m)
U3MEpPEHNE
MSAPKa (a measure) (dimension) MEPKH (measures)
XJI5100BE (breads) xJ1e0ap (a baker) XJ1€0€H (bread attr. m)

KpaiOpexxue (coast-

6pgr (shore, bank) 6pGFB§ (shores, banks) line) Kpaﬁ6pg>KHa (coastal)
. . T'PEIICH (sinful, .
rpsX (a sin) I'PEXOBE (sins) mistaken m) I'pEIIKa (a mistake)
. . MJI€YCH (milk, dairy MJI€YHA (milk, dairy
MIJISIKO (milk) MIJICKAD (dairyman) attr. m) attr. f)
5 !
CMSIX (laughter) CMEXOBE (laughter p/)  |CMEIIIEH (funny) CMEH CC (laugh!

imper.2" p. sg)

CHST (snow)

CHETOBE (snow pl)

CHEXCH (snowy, of
Snow m)

CHEXHa (snowy, of
snow f)

The palatalization of the velar consonants K, I', X occurs in three different variants
called first, second and third palatalization.

As the name shows, the first palatalization took place before the other two, as
early as Common Slavic. Its essence is that the velar consonants K, I', X changed
into Y, 7K, I1I when they occurred before certain front vowels. (It should be
mentioned that there were at least twice as many front vowels in Common Slavic
and in Old Bulgarian as in modern Bulgarian. In the contemporary language there
are only two front vowels - e and n).

The results of the first palatalization can be seen in variety of morphological forms,




as well as in words derived by the means of certain suffixes. Here are some
examples:

« in verb paradigms:

Tneka, IeKar : euell, reve, IeueM, meuere (to bake, pres. t. 1% p. sg, 3 p. pl : 2™ p. sg,
3" p.sg, 1% p. pl, 2™ p. p)

MOra, MOTarT : MOKEII, MOJKE, MOKEM, MOKETE (to be able, pres. t. 1% p. sg, 3 p. pl : 2™
p.sg 3 p.sg 1" p.pl, 2™ p. pl)

 in plural and vocative forms of some nouns:

OKO : OYH (an eye, eyes); YOBEK : YOBEUE (a man/person Nom : Voc.); yXO : yIIIH (an ear,
ears); bor : boxxe (God Nom : Voc.)

« in derivatives such as verbs from the 2™ conjugation, or verbs containing the
suffix -e-; nouns with suffixes -emn, -ecTBO, -HJ10, -HHA, - KA, -HIIIE;
adjectives with suffixes -eH, -ecku, -ecT, -H:

MBKa : MBbUHII (a pain/torment : to torment 2" p. sg, pres. t.); KpBI' : KPBIKUII (a circle :
to circle around 2™ p. sg, pres. t.); cyx : cymmi(dry attr. m : to dry 2" p. sg, pres. t.); TIyx
: orutyiiies (deaf : to become deaf 1* p. sg, pres. t.)

npax : npaiier (dust : pollen/fine dust); YOBEK : YOBEUECTBO (a man/person : mankind);
IUTax : IUTAIIWIIO (timid : a scarecrow); Apyrap : ApykKUHa (a comrade/fellow : a
battalion/party);

Manka : Maiuuna (a mother : a mother/mummy); ThPr : ThPKHUIIE (an auction : a market
place)

pBKa : pbUeH (a hand : hand atfr. m); KHUAI'a : KHWKEH (a book : paper attr.); CTpax :
crpalieH (fear/dread : fearful); KOMHUK : KOMUYECKHU (a comedian : comic m/pl); Bpar :
BPAKECKH (an enemy : hostile/enemy m/pl); MOHAX : MOHAIIIECKH (a monk : monastic);
CdHKa : c€HYECT (a shadow : shady); BBJIK : BBJIUH (a wolf : wolf's); Bpar : Bpaxu (an
enemy : hostile/enemy m/pl)

The second palatalization took place much later (but still in Common Slavic). Its
essence is that the velar consonants K, I', X changed into LI, 3, C when they
occurred in front of the front vowels e and u that came into existence after the first
palatalization as a result of monophthongization of some diphthongs.

The results of the second palatalization can be seen mainly in the forms for the
plural of the masculine nouns that end on K, I', X in the singular. Here are some
examples:

BBJIK : BBJIIIHU (a wolf : wolves); KOMHK : KOMHUIIH (a comedian : comedians)
Omoror : 6MoI03M (a biologist : biologists); CBIIPYT : CBIIPY3H (a spouse : Spouses)



MOHAaX : MOHACH (a monk : monks); KOXKYX : KOXKYCH (a sheep-skin coat : sheep-skin
coats)

The third palatalization took place even later but it did not have considerable
impact on Bulgarian, especially from the point of view of a foreigner learning the
contemporary language, so we'll skip it and move forward to the next item.

The elision of the vowels -E- and -b- is another phonetic rule that is diachronic
by its nature. If the vowels E, 'b happen to be in the final syllable of nouns or
adjectives that belong to the masculine gender they disappear in the forms for the
plural and the vocative of the nouns, in the forms for the feminine, the neuter and
the plural of the adjectives as well as in the definite forms for the masculine gender
of the adjectives. The reason for this is that the -b- comes from Old-Bulgarian -'b-,
and -E- comes from Old-Bulgarian -b-. According a phonetic rule that was in force
in Old Bulgarian these vowels were pronounced when they were in a strong
position and were not pronounced, i.e. disappeared, when they were in a weak
position. We'll not go into details which position was strong, and which - weak, it
1s enough to point out that in the form for the masculine of the above-mentioned
words they are in a strong position and in the rest of the forms they are in a weak
position. Here are some examples:

MOMBK : MOMITH; MOMKO, but MOMBKBT (an young man : young men, young man Voc., the
young man)

OI'bH : OTHBOBE, but Or'eHAT (a fire : fires, the fire)

cTapell : cTapiy; crapue, but ctapersT (an old man : old men, old man Voc., the old
man)

OpeJ : OpJIK; OPJibO, but OpebT (an eagle : eagles, eagle Voc., the eagle)

MAJTBK : MajKa, MaJIKO, MaJIKH, MaJKus(T) (little/small m : £, n, pl)

TOM'BJI : TOILIA, TOTUIO, TOTUTH, TOILIUS(T) (warm m : f, n, pl)

JIETEH : JIATHA, JATHO, JICTHH, JIETHUA(T) (summer aftr. m : f; n, pl)

JIYHEH : JIyHHA, JIYHHO, JIYHHH, JIYHHUS(T) (moon attr. m : f, n, pl)

As always, there are exceptions to the rule. Thus, in adjectives like 3enen, uepseH,
CTBKJICH, IbPBEH, BhJIHECH, KonpuHeH etc. the sound e does not disappear when the
forms for the feminine, the neuter and the plural, as well as the forms with the
definite article for the masculine are constructed:

3€JICH, 3€JICHA, 3eJICHO, 3€JICHH, 3eJICHUsA(T) (green m : f, n, pl)
BBJIHEH, BBJIHCHA, BBIIHEHO, BBJIHEHH, BBJIHEHUS(T) (woolen m : f, n, pl)



The Parts of Speech

In Bulgarian the words are classified as belonging to different part-of-speech
classes (uacTu Ha peuta), just like in English (or any other Indo-European
language). Thus, for example, it is considered that words that refer to persons,
objects, places, substances, concepts etc. are nouns. There are, though, some minor
differences between the traditional classifications in Bulgarian and English.

In Bulgarian are recognized 10 part-of-speech classes - all the 9 classes that are
recognized in English (i.e. nouns, adjectives, numerals, pronouns, verbs,
adverbs, conjunctions, prepositions and particles) and, in addition, the
interjection is considered to be a separate class. Into this class fall exclamation
words that express emotion, as well as onomatopoeic (i.e. sound imitating) words.

Besides, on the morphological level, a distinction is made between ‘inflective’ and
'mon-inflective’ parts of speech. Thus, the nouns, the adjectives, the numerals, the
pronouns and the verbs belong to the 'inflective’ parts of speech because they have
grammatical categories such as number, for example, they have forms for the
singular and forms for the plural, i.e. they have two or more different forms. The
rest of the part-of-speech classes are considered uininflective'. Strange enough
because the adverbs fall into this category despite the fact that they have forms for
positive, comparative and superlative degrees (at least the qualitative adverbs).

On the syntactical level, a distinction is made between independent words and
function words. Into the first category fall all the 'inflective’ part-of-speech classes
and the adverbs because they can perform independently as a part of the sentence
(i.e. a noun can be a subject, an object etc. of the sentence, a verb can be a
predicate, an adjective can be an attribute, an adverb can be an adverbial and so
on). The conjunctions, the prepositions and the particles can not function
independently as any part of the sentence. Thus the conjunctions connect or
otherwise indicate the relationship between clauses or other elements of a sentence,
the prepositions indicate the relations (grammatical or in the space) between two
nouns, or a verb and a noun, the particles are used for constructing different
grammatical forms, for example the future tense of the verbs, the comparative and
the superlative degree of the adjectives and the adverbs and so on. According to the
traditional grammars of Bulgarian the inferjection does not belong to any of these
two categories. From a syntactical point of view it is considered to be sort of
"extraneous" to the structure of the sentence. This is a bit strange because some, if
not most of the interjections, can perfectly well perform as a predicate in the
sentence. Anyhow, it is not the aim of this "opus" to solve this problem, and not
even to set it.

Another difference between Bulgarian and English is that in Bulgarian, in general,



the part-of-speech class of a word tends to be invariable, only part of the adverbs
that are derived from adjectives are homonymous to the forms for the neuter
gender of the adjectives.

The different part-of-speech classes in Bulgarian are represented in the table below
(the definitions and more details about the different classes will be given later in
the introductory chapters on the different classes):

Parts of Speech Independent
(4acTu Ha peyra) (camocTOiHM)

NOUN

(CHIIECTBUTETHO UME)
Independent

Grammatical categories: gender, number,
definiteness, relics of case system (vocative forms)

ADJECTIVE
(mpujiaraTeJiHO UMe)
Independent
Grammatical categories: gender, number,

definiteness, degrees of comparison

NUMERAL
(YHCJIHUTEJIHO UMe)
Independent
Grammatical categories: definiteness. For ordinal

numerals also: gender and number

PRONOUNS
(MecTOMMEHU )

A bit diverse class, as into it fall pronouns proper,
"proadjectives", "proadverbs", "pro-verbs" etc. There
are nine subclasses: personal, possessive, reflexive,

interrogative, relative, indefinite, negative and Independent
generalizing pronouns. Grammatical categories:
altogether - gender, number, definiteness, person and
case relics. Naturally, not all of them are relevant for
each subclass of the pronouns. Some are relevant for
some subclasses and others are relevant for other

subclasses.

VERB
(raaroJ)
Independent
Grammatical categories: number, person, tense,

aspect, voice, mood




ADVERB
NOH-I(['l'f'l)eCthe (Hape4due) Independent
Grammatical categories (!!!): degrees of comparison
Non-inflective CONJUNCTION Function
(cb103)
Non-inflective PREPOSITION Function
(mpesior)
Non-inflective PARTICLE Function
(dyacTuma)
Non-inflective INTERJECTION Function
(Mexxaymerue)
Non-inflective Parts of Speech Function
(Hem3MeHsIeMH) (JacTu Ha peyTa) (corysedHm)
Gender of the Nouns

Each Bulgarian noun (cbmecrButesno ume) belongs to one of the following
gender groups: masculine, feminine, neuter. Adjectives, pronouns, participles etc.
agree in gender with the nouns they refer to.

Most of the nouns that belong to the gender (MB:kKHU pon) end in a
in the singular. Here are some examples (the accented vowel is
underlined):

pob (a slave), TOTYOCTPOE: (a peninsula), OHOJIOI (a biologist m), Tpasi (a town), TOE
(an engagement), KOJIOBO3 (a track), repoii (a hero), riymnax (a fool m), COKOJ1 (a falcon),
oM (a home), Komarn (a belt), cupori (syrup), pubap (a fisherman), Kiac (a class), >)KUBO
(a life), manTO() (a slipper), MOHax (a monk), KJ1aaeHel! (a well), muBay (a tailor),
paskoii (luxury), miaiii (a cloak)

There are few exceptions:
Oarna (a father), ciyra (a servant), Cbaus (a judge), KbeMeTIHs (a lucky fellow),

I (a grandfather), yu4  (an uncle), Byl4  (an uncle - mother's brother), Tiymy  (a
fool), r71€371b  (a spoilt boy/man)




Most of the nouns that belong to the feminine gender (skencku pon) end in -A or -
S

’KeHa (a woman), Maca (a table), TpaguHa (a garden), OMOIMOTEKA (a library),

cTas (a room), Hes (an idea), YMHUS (a saucer), YaKaJIHs (a waiting-room), OaHsI (a
bathroom)

There are few exceptions that end in a consonant:

CyTpul (a morning), BE4Yep (an evening), HOII! (a night), IIpoJieT (a spring - season), KPb
(blood, 3axap (sugar), cos (salt), Me/1 (MeTas) (copper)

as well as the nouns ending in the suffix -OCT/-ECT:
panoct (joy), MAAIOCT (youth), 6o7ecT (an illness), TOpECT (sorrow)

The nouns that belong to the gender (cpeaen pon) have endings - , - , or
endin , , , (the latter are usually loan words):

MACT (aplace), cen (avillage), e3ep (a lake), mury (a face), MOMHY (a girl),
0OIIeKUTH  (a hostel),

KadeH (acafe), MaTUH (a morning performance), yUCK (whisky), Takc (a taxi),
Omwxk (ajewel), MEH (a menu), Tapec (an overcoat)

In other words - except for the nouns ending in the suffix -OCT/-ECT, and some
other exceptions that belong to the feminine gender - all the nouns that end in a
belong to the gender.

Most of the forms that end in -A, -4 belong to the feminine gender, or to the
masculine gender exceptions.

Plural of the Nouns

There are three main ways to construct the plural (MHoxkecTBeHO unci0) forms of
the nouns: by adding the endings -U, -OBE/EBE, and -A/TA. There are a lot of
exceptions as well.

The most frequent ending for the plural of the nouns that belong to the masculine
and the feminine gender is -I1:



It is added to most of the nouns that end in a regardless to their gender.
Here are some examples (the accented vowel is underlined):

m: aBTOOYC (a buss) - aBTOOyCH, TaBaH (a ceiling) - TaBaHH
f: Beuep (an evening) -Beuepu, paaocCT (joy) - paaocTu

If the noun ends in /1, -A, -4 it is replaced by -11:

m: Tepoii (a hero) - repou, Oata (a father) - 6ary, chaus (a judge) - ChAUN
f: ombmmoTeka (a library) - OMOIHOTEKY, OaHs (a bathroom) - OaHM
Exception: ppKa (a hand) - ppLe

Most masculine monosyllabic nouns join the ending -OBE/-EBE in the plural:

rpaj (a town) - TpajoBe, 4ai ((a cup of) tee) - yaore, Kypc (a course) - Kypcose, 00
(a beating) - 6oeBE

Exceptions:

MBX (a man) -MBXKE, Lap (a king) - nape, kpai (a king) - Kpaje, KOH (a horse) - KOHE
H§T2 (time, e.g. three times) - IbTH, IPLCT (a finger) - IPLCTU, ACH (a day) - JHU, TOCT
(a guest) - TOCTH

BT (a road) - MBTHUILA

The masculine nouns that end in -  join the ending -BLI! in the plural:

a0 (a grandfather) - qgn0B1IM, YUY (an uncle) - YHYIOBIIM, TIIYITY  (a fool) -
TJIYIYOBIIN, TIE3Mb  (a spoilt boy/man) - Te31b0BI1IM, Banb - BanboBiin

In other words, the masculine polysyllabic nouns that end in a form the
plural by adding the ending -1, the masculine polysyllabic nouns that end in /1, -A,
-5 form the plural by replacing it with the ending -11, the masculine monosyllabic
nouns (with some exceptions - see above) form the plural by adding the ending -
OBE/-EBE, and those that end in -  join the ending -BI /1.

The feminine nouns that end in a (included those that end in suffixes -
OCT/-ECT) form the plural by adding the ending -11. The feminine nouns that end
in -A, -4 form the plural by replacing it with -I1.

The neuter nouns that end in -  form the plural by replacing it with the ending -A:



Definite Article and the Nouns

There is only one article in Bulgarian - the definite article (onpeaeauresien
wieH). There is no equivalent, for example, to the English indefinite article or the
French partitive article (article partitif). Another difference between Bulgarian and
the most of the Indo-European languages which have definite article is that the
definite article in Bulgarian is always added as an ending to the noun. Here are the
forms for the definite article for the masculine, feminine, and neuter gender, and
for the plural:

There are long forms -bT/-AT (nbJjen 4iaen) and short forms -//-*1 (kpaTbk
ujieH) of the definite article for the nouns of the masculine gender. The long forms
are used when the noun is the subject of the sentence, apposition or predicative.
The short forms - when it is any other part of the sentence. Here are some
examples (the accented vowel is underlined):

Bnaxst cnipg Ha rapa Codust. (The train stopped at Sofia Station.)

MHoro nbTHULIM C/IA30Xa OT Biak:. (Many passengers got off the train.)

VYuutenst ropopenie 3a Credpan Ctam00510B. (The teacher was talking about Stefan
Stambolov.)

Cnymaxme ¢ uHTepec yuuressi. (We were listening to the teacher with interest.)

Most of the nouns that belong to the masculine gender take the -bT/-/ variant of
the article:

Kydap (a suitcase) - KyhapsT - Kyap: (the suitcase)
xoTeJ1 (a hotel) - XOTENMBT - XOTEN: (the hotel)
BJIaK (a train) - BJIAKGT - BJIAK (the train)
CTYIEHT (a student m) - CTyI€HTHT - CTYAEHT (the student m)
The nouns that take the variant -ST/-*1 are the following:
o all the nouns that end in 11 (/1 is replaced by the article):

Kpau (an end) - KpasaT/ s (the end), repoii (a hero) - TeposT/ « (the hero)

o all the nouns that end in the suffix-TEJI both for persons and non-persons,
and on the suffixes -AP/-SIP for persons:

yuuTeJ (a teacher m) - YAUTEIAT/ 51 (the teacher m), YUCIUTEJ (a numerator) -
YUCITATENAT/ 51 (the numerator),
but xoTei (a hotel) - XOTeIbT/a (the hotel) as 'texn’ is not a suffix



3natap (a jeweler/goldsmith) - 3maTapsT/s (the jeweler/goldsmith), FOOMISP (a person
celebrating an anniversary) - FOOMIISIpSIT/ 1 (the person celebrating an anniversary)

but kydap (a suitcase) - KyhapbT/a (the suitcase) as 'ap' is not a suffix, and 'kydap' is
a non-person noun

« ten nouns that historically ended in a palatal consonant and, unlike the rest
of the nouns that ended historically on a palatal consonant, persistently join
the soft variant of the article. Here they are:

nen (a day) - neHaT o (the day)

3€71 (a son in law) - 3€TAT/ 4 (the son in law)
KOH (a horse) - KOHAT/ ¢ (the horse)

KpaJi (a king) - KpaiaT s (the king)

JIaKbT (an elbow) - TAKBTAT/ ¢ (the elbow)
HOKBT (a nail) - HOKBTAT/ ¢ (the nail)

orsuii (a fire) - OrbHAT) ¢ (the fire)

0671 (aroad) - IBTAT/ ¢ (the road)

ChbH (a dream) - CBHAT/ I (the dream)

nap (a king) - mapsat/s (the king)

The nouns of the masculine gender that end in -A/-4I join the article morpheme for
feminine - | A (see below):

Oara (a father) - 6amar« (the father), cbaus (a judge) - chaus 2 (the judge)

The nouns of the masculine gender that end in -  join the article morpheme for
neuter - | O (see below):

nan  (a grandfather) - gm0 0 (the grandfather), yn4  (an uncle) - 4u40710 (the uncle),
IJIE3JIb  (a spoilt boy/man) - T1€371601 0 (the spoilt boy/man)

There is only one form of the definite article for the nouns of the feminine gender
regardless to their role in the sentence - the morpheme -

Maca (a table) - Maca @ (the table), CTyI€HTKa (a student f) - CTYASHTKA 2 (the student f)
OaHs (a bathroom) - OaHs 12 (the bathroom), cTas (a room) - cTas 2 (the room)
HO!11 (a night) - HOLII T 2 (the night), Be4yep (an evening) - Be4ep 1 (the evening)
panocT (joy) - pamocTia (the joy), 6osecT (an illness) - 6omecT 4 (the illness)

There is only one form of the definite article for the nouns of the neuter gender
regardless to their role in the sentence - the morpheme -

MOMHY (a girl) - MoMHuY€e O (the girl)
MSCT (a place) - MACTO1O (the place)



YUCK  (whisky) - YHCKH 0 (the whisky)

OmxK (ajewel) - OMXKYT 0 (the jewel)

MEH (a menu) - MEHIO 1O (the menu)

yuuiauil (a school) - yuunumie o (the school)

Ccbpll (a heart) - cbp1ie! O (the heart)

bTYBAaH (ajourney) - bTYBAaHE O (the journey)
chOpaHu (a meeting) - ChOpaHUe 10 (the meeting)
JICMCTBHU  (an action) - IEHCTBUE O (the action)

BpeM (time; weather) - Bpeme 10 (the time ; the weather)

There is only one form of the definite article for the nouns in plural regardless to
their role in the sentence - the morpheme -

TaBaH - TaBaHU - TaBAHU ¢ (a ceiling - ceilings - the ceilings)

repou - repou - repou ' ¢ (a hero - heroes - the heroes)

Oama - 6amy - 6amy: ¢ (a father - fathers - the fathers)

BEYEp - BEUEpU - BEYEpH ' (an evening - evenings - the evenings)

panocT - pagocTy - PadoOCTH ¢ (joy - joys - the joys)

OnOIMOTEKA - OMOINOTEKY - OMOIMOTEKH ¢ (a library - libraries - the libraries)
rpaj - rpaJioBe - rpagoBe c (a town - towns - the towns)

MBXK - MBXKE - MBXKE! ¢ (a man - men -the men)

A0 - AI0BIM - A4I0BLIU ¢ (a grandfather - grandfathers - the grandfathers)
OKO - O4M - O4H ¢ (an eye - eyes - the eyes)

JKUBOTHO - )KUBOTHU - )KUBOTHH ¢ (an animal - animals - the animals)

The nouns of the neuter gender that have ending for plural -A/-51/-TA join the
definite article for the feminine gender regardless to their role in the sentence:

CEeJI0 - cena - cemara (a village - villages - the villages)

oJIe - mojieTa - rmoJierar« (a field - fields - the fields)

YHUCKH - YUCKHTA - YUCKUTA 7 (a glass of whisky - (some) glasses of whisky - the glasses
of whisky)

oMKy - OMKyTa - OMKyTa 2 (a jewel - jewels - the jewels)

MEHIO - MEHIOTA - MEHIOTAT 4 (a menu - menus - the menus)

YUMJIMIIE - YYWJIHIIA - YYUJIAIIA 2 (a school - schools - the schools)

JIMLIC - JIALIA - JTAA - (a face - faces - the faces)

MIbTYBAHE - NbTYBAHU - ITBTYBAHUS | 2 (a journey - journeys - the journeys)
chOpaHue - chbOpaHms - CbOpaHus | (a meeting - meetings - the meetings)
JICUCTBUE - ICUCTBUSI - ICUCTBUSA < (an action - actions - the actions)
BpEME - BpEMEHA - BpEMEHA 7 (time - times - the times)

JIETE - neua - aeuar (a child - children - the children)



Use of the Definite Article

Although it seems that the only obvious difference between the use of the definite
article in Bulgarian and in English is that in Bulgarian the possessive pronouns can
be used with the definite article, it is useful to remember that there are three main
reasons to use the definite article:

« If a certain object has already been mentioned once in the conversation or in
the text, the second time we mention it we refer to it as we refer to
something familiar, defined. For this reason we use the definite article. This
function is called individual qualificative function. Here are some
examples (the accented vowel is underlined):

Cperry Hac ¢ BUCOKa CKOPOCT CE JABMIKEIIIC OrpoMeH KaMuOH. Muciexme, ue 1ie

KatacTpodupame, HO KAaMHUOH T YCIIsl 1a CBUE BJISICHO.
Towards us, at a high speed was coming a huge truck. We thought that we were going to
collide but in the last moment the truck managed to turn to the right.

Mapus umariie aeTe oT IpeamiieH Opak. ACEH ChIIIO UMAIIE IeTe OT MPeAUIICH
Opax.

Maria had a child from a previous marriage. Asen also had a child from a previous marriage.

In the first two sentences we are talking about one and the same truck. First we
mention that such an object appears, and after that we refer to the same object.
That is why we use the form with definite article. In the second two sentences we
talk about different kids. First we mention Maria's child, then we mention another
child, Asen's child, that is why we use the basic form, without a definite article.

« If we want to imply that all the people or the whole quantity of something is
involved in the activity we use the definite article although the object might
not have been mentioned before. This function is called quantitative
function. Often in such cases we deal with plural forms (count nouns) but
not always (non-count/mass nouns):

Pomanu ¢ Ha Muxaun bynrakos ca npeBesieHr Ha OBJATapCKU.
The novels of Michail Bulgakov are translated into Bulgarian.

Arseniko1o (B HaIIMS Mara3uH) € CBhPIIUJIIO.
The lamb (in the local shop) is sold out.

As the novels of Bulgakov are not mentioned before in the text and still the form
with the definite article is used, it is clear that all his novels are translated in
Bulgarian. The meaning of the second sentence is that the whole quantity of lamb
that was available in the local shop is sold out, finished.



o There is yet another function of the definite article which can be called
generalizing function. In such cases we usually refer not to one single
object but to all the objects in that class, especially in proverbs and maxims:

Kydero e Hall-no0pusT NpUgTEN HA YOBEK:.
Dog is man's best friend.

[lymene o e BpeaHo 3a 3ApaBe
Smoking is harmful to the health.

What these sentences imply is that any dog is a better friend of yours than, for
example, your boss, your spouse, or even your dearest friend; and no matter what
you smoke - cigarettes, cigars or a pipe - smoking is harmful to your health.

If you feel the need to use something like the good old English indefinite article,
you can always use the forms of the cardinal numeral for 1 (or rather the forms of
the indefinite pronoun edun, eona, eono, eonu). There is even a form for plural
corresponding to the English "some" (eonu). Here are some examples:

['oBopex ¢ equH npusTen / eHA NpUITEIKA.
I was talking to a friend (male/female).

['oBopex ¢ eqHU NpUATENH.
I was talking to some friends.

CpeliHaxme ce B eIHO KacbeHg.
We met at a cafe.

Gender and Number of the Adjectives

Bulgarian adjectives (mpusiararesnn umena) change in gender and number
because they agree with the nouns they refer to. In the masculine gender the
adjectives usually end in a consonant. The corresponding forms for the feminine,
the neuter and the plural are constructed by adding -A, - , -I1. If the vowel in front
of the final consonant in the masculine is b or E it disappears in the forms for the
feminine, the neuter and the plural; as usually there are exceptions to that rule.
Here are some examples (the accented vowel is underlined):

BUCOK, BUCOKA, BUCOK , BUCOKM (tall)
rojgm, rojigMa, rojisiMm , rojaemu (big)
Apar, fipara, apar , iparu (dear)
€BTHUH, €EBTUHA, EBTUH , EBTUHMU (cheap)



MEK, MEKa, MEK , MEKH (soft)

J1100B), 100pa, 100p , 100pH (good)

MaJIbK, MaJIKa, MaJIK , MaJIKU (small/little)

TOM'bJI, TOIJIA, TOIUT , TOIJIN (Warm)

BKYC€H, BKYCHA, BKYCH , BKYCHH (tasty)

JioMalleH, JoMaliHa, JOMalH , JoOMallrHu (domestic)
JIETeH, JISATHA, JIATH , JIETHU (Ssummer atfr.)

JIYHEH, JIYHHA, JIYHH , JYHHU (moon attr.)

CTpaHeH, CTpaHHa CTPAHH CTPaHHMU (strange)

Exceptions:

YEPBEH, YEPBEHA, YEPBEHO, YEPBEHH (red)
3€JIEH, 3€JIEHA, 3€JICHO, 3€JIE€HU (green)

KOXKEH, KO)KeHa, KOXKEHO, KOXKeHH (made of leather or fur),
but
KOXX€H, KO)KHA, KOKHO, KOXHH (of skin)

CTBKJIEH, CTBKJICHA, CTBKIICHO, CTHKIICHHU (of glass)
IbPBEH, IbPBEHA, IbPBEHO, AbPBEHU (of wood),
but

OceToHEeH, OeToHHA, OCTOHHO, OETOHHH (of concrete)

BbJIHCH, BBJIHCHA, BJIHEHO, BBJIHCHH (of wool)
KOIIpHHEH, KONPHUHEHA, KOIPUHEHO, KONpHUHEHU (of silk),
but

maMyd4eH, ITaMy4Ha, IaMy4YHo, ITaMy4YHH (of cotton)

As you can see, apart from the adjectives like uepBeH (red) and 3es1eH (green) that
are qualificative, all the other adjectives that belong to the exceptions are relative
but not all the relative adjectives belong to the exceptions.

There are some adjectives that end in -1 in the masculine. It is the final vowel of
the suffix -CK-H. The forms for the feminine, the neuter and the plural are
constructed by replacing the -U of the suffix with -A, - , -/. Naturally, the forms
for the masculine and the plural are homonymous:

o0bsrapCKl1, 6prapCKA, 661rapCK , 66arapCKU (Bulgarian attr.)
texHuueCK, texanueCKA, texunueCK , TexanueCKM (technical)



Definite Forms of the Adjectives. Adjective Comparison.

Definite Forms of the Adjectives

In Bulgarian the adjectives, as well as the pronouns, the ordinal numerals etc., used
as attributes in the sentence are usually placed in front of the nouns they qualify. In
this case the definite article, if needed, is joined to the first attribute of the noun
phrase.

The forms of the article for masculine are:

-AT/-41 (long form/short form). The article is added not directly to the basic form
for the masculine of the adjective but to a form extended with -11. The extended
form looks exactly like the form for the plural. Do not forget that if the vowels 'E',
"b" happen to be in the final syllable of adjectives that belong to the masculine
gender they disappear. Here are some examples (the accented vowel is underlined):

cmab + 11> cnadll + “I(T) = cmabl1*/(T) (the thin/weak m)
tonwa + M > tormnll + “I(T) = ol (T) (the warm m)
nereH + 1 > nerul! + “I(T) = netul 1 *I(T) (the summer attr. m)

If the adjective ends in U (the suffix -CK-N) the article is added directly to the
basic form:

onsrapcku + “I(T) = 6parapcku *(T) (the Bulgarian attr. m)
The rest of the forms are:

-1'A for the feminine, -1 O for the neuter, - | I for the plural:
cnabal A, cmabo ! (), cnabu (the weak, thin £, n, pl)

JIATHA | A\, JIATHO | (), JIETHHU (the summer attr. f, n, pl)

ToIwia | /A, TOIIO | (), TOILIA (the warm f, n, pl)
Obsirapcka | /A, Obarapcko | (), Obarapcku | | (the Bulgarian attr. f, n, pl)

Degrees of Comparison of the Adjectives

Bulgarian adjectives have three degrees of comparison (cTenenu 3a cpaBHeHue) -
positive (mMo10:KUTEHA), comparative (cpaBHHTeJHA), superlative
(mpeBb3x0aHa). The comparative and the superlative degrees are formed by



placing the hyphenated particles mo- (more), Haii- (most) in front of the positive
form of the adjective. Here are some examples:

‘ masculine ‘ feminine ‘ neuter | plural

cinab cnaba ( cnado cnadu

(thin/weak m) thin/weak f) (thin/weak n) (thin/weak pl)

cmabus(T) ciabara c1ab0To ciaabure

(the thin/weak m) (the thin/weak f) (the thin/weak n) (the thin/weak p/)
mo-cjaadu

no-ciab no-ciaba Mmo-cyabo (thinner/weaker p/)

(thinner/weaker m) (thinner/weaker f) (thinner/weaker n) criweaket p
no-cnadure

no-cnadusi(T) no-ciabara nmo-caboTo (the thinner/weaker

(the thinner/weaker m) |(the thinner/weaker f) |(the thinner/weaker n) i) W

Hali-ci1ad . . .

(the thinnest/weakest Haii-ciaba Haii-c1a00 Hali-caabu

W (thinnest/weakest /)  |(thinnest/weakest n) |(thinnest/weakest p/)

m)

Hal-cnadus(T)

Hali-cabara

Hali-c1a00To

Hali-craburte

(the thinnest/weakest (the thinnest/weakest |(the thinnest/weakest |(the thinnest/weakest
) " ) )

1100Bp 100pa 1100po 100pu

(good m) (good f) (good n) (good pl)
n00pusI(T) nobparta J00pOTO noopure

(the good m) (the good f) (the good n) (the good pl)
no-10056p no-100pa no-100po no-100pu
(better m) (better f) (better n) (better pl)
no-100pusi(T) no-a00para Mo-100poTO no-100puTe
(the better m) (the better f) (the better n) (the better pl)
Hal-100Bp Haii-1o0pa Hali-100po Hai-100pu
(best m) (best f) (best n) (best pl)
Ha-100pusi(T) Hali-nobpara Hali-100poTO Hal-100puTe
(the best m) (the best f) (the best n) (the best pl/)
CUJIEH ChJIHA CHJTHO CUJIHU

(the strong m) (strong f) (strong n) (strong pl)
CHITHUSA(T) CUJIHATA CHJIHOTO CUJIHUTE

(the strong m) (the strong f) (the strong n) (the strong pl)
MO-CUJICH MMO-CUJIHA MO-CHUJTHO MO-CUJTHU
(stronger m) (stronger f) (stronger n) (stronger mpl)




NO-CHJIHUSA(T) MO-CUJIHATA MO-CUJIHOTO MO-CUJTHUTE
(the stronger m) (the stronger f) (the stronger n) (the stronger p/)
Hal-CUJICH Hali-CUJTHA Hal-CHJIHO Hall-CUJTHA
(strongest m) (strongest f) (strongest n) (strongest p/)

HAM-CUITHUSA(T)
(the strongest m)

Hall-CUJTHATa
(the strongest f)

Hal-CUITHOTO
(the strongest n)

HAW-CUITHUTE
(the strongest pl)

Such adjectives are called qualitative adjectives (kauecTBeHM NPUJIATATETHH ).
They express a quality, characteristic, property of a noun, and they may be not only
compared but as well intensified (106Bp > MHOro 100Bp (good > very good)), and
very often also adverbialized (m006®p >mo00pe (good > well)) and nominalized (1005Bp
>n00poTa (good > goodness)).

Some adjectives, however, denote such qualities (properties) that are not
comparable. For instance a wooden table can not be more wooden or less wooden,
so although you can build forms like *mo-n1bpBen' (*more wooden), *Haii-TbpBeH
(*most wooden) you can't actually use them. Those adjectives are called relative
adjectives (oTHocuTessHu npuaaratesann) and they identify the relation of one
noun to another noun from which the adjective is derived. Usually they denote the
material of which the object is made and can be replaced by a construction
consisting of the preposition 'OT' (of) and the noun for the material: AbpBO >
ABPBEH = OT AbPBO (wood > wooden = of wood) (ALpBeHAa Maca = Maca OT IbPBO
(wooden table = table of wood)). At the same time if you use the adjective nbpBen
(wooden) figuratively meaning for example that somebody is a clumsy dancer you
can not only build the forms for comparison but use them as well:

IMo-abpBeHa TaHubOpKa OT HaTtanust HE CbM BHKIAJIA.
[ haven't seen a more clumsy dancer than Natalie.

Haranusa e Hal-IbpBeHAaTa TAHIBOPKA, KOATO CbM BHKIAJIA.
Natalie is the clumsiest dancer I have ever seen.

It is important to remember that the particles mo-, Haii- have a stress of their own,
1.e. they are always accented.




Cardinal Numerals

The cardinal numerals (0poiinu uncauTeHun umeHa) for the numbers from 0 to
19 are (the accented vowel is underlined):

|O ‘Hyna

|1 ‘eI[HQ

2 JIBE

3 TpH

|4 “IQTI/IpI/I

5 neT

|6 ‘HIgCT

7 ceaeM

8 oceM

‘9 ‘I[QBGT

10 JIeCeT

11 eauHazeceT (euHanCeT)

| 12 ‘HB&H@I{CCGT (mBaHaiicer)

13 TPUHAIECET (TPUHANCET)

‘14 “IGTHpHH@}leceT (ueTupuHaiicer)
15 MeTHaJAeCeT (TIeTHAKCeT)

16 mecTHazaeceT (IecTHaNCeT)
|17 ‘CGILGMH@I{GCGT (cenemmuaiicer)
18 OoceMHajieceT (OCEeMHAMCET)

| 19 ‘I[CBGTHQ,Z[CCGT (neBeTHaricer)

The cardinal number for 1 changes in gender and number. Although the idea of
having a form for the plural of 1 may seem strange there is quite natural
explication: the forms of the cardinal numeral for 1 are sometimes used in the
function of the English indefinite article ; sometimes the plural form can mean one
pair or one set. Here are some examples:

|ﬂMaM camo eJIuH MOJIUB. ‘I have only one (not more) pencil.
I'oBopex ¢ ey mpUsTEN. I was talking to a friend (male).
‘Hpoquox caMo ¢JIHa KHUTA. ‘I read only one (not more) book.
I'oBopex ¢ eHa mpusTenKa. I was talking to a friend (female).




M3nux camo enHo kade. I had only one (no more) coffee.

‘CpgmHame ce B e/1HO KaeHe. ‘We met at a cafe.

(Umam camo el OOYBKH. ) (I have got only one pair of shoes.)

|FOngex C €/THU TIPUATEIIH. ’I was talking to some friends.

The cardinal number for 2 changes in gender: the form 'mBa' is used with the
numerical form for the plural of the masculine nouns for non-persons, and the form

'nBe' is used with the plurals of the feminine and the neuter nouns:

JABA MOJIMBA (2 pencils), IB€ KHUTH (2 books), AB€ )KE€HHU (2 women), IBE Ae1a (2
children), 1B€ cema (2 villages)

Contracted forms like 'emqunaticer' (11), 'nBanaticet’ (12), 'meiicet' (60) etc. are used
mainly in the colloquial speech. You should avoid, though, writing them. The
formal 'equnanecer’, 'nBananecet’, 'mectaecer’ etc. should be used instead.

The cardinal numbers for the 'tens' are:

|2O ‘I[BQI[CCGT (nBaticer)

‘30 ‘Tpg}leceT (Tpuiicer)

40 YeTUpUIeceT (UeTUpHiicer)
50 MIETASCET

|60 ‘H.ICCTI[GCQT (mericer)

70 ceaeMJIeCET

‘80 ‘OCGMHCCQT

|90 ‘I[CBCT,Z[CCQT

The forms for the 'hundreds' are:

100 cto

200 JIBECTa

‘3 00 ‘TngTa

400 YETUPUCTOTHH
|900 ‘I[QBCTCTQTI/IH




The word for 1,000 - xungna' belongs to the feminine gender, so it takes the form
for the feminine of the numeral 2 - 'nBe', while the words for 1,000,000 and for
1,000,000,000 - 'Munmon', 'Munuapa' belong to the masculine gender and they take
the form for the masculine of the numeral 2 - 'nBa'. Naturally, after numerals
'MunoH', 'Munnapn' are used in their numerical form, not the ordinary form for the
plural:

XUJIA1a; JIBE XWISIN
(eauH) MUTHOH; MUJIMOHA
(emuH) MuITHAPT; MHUIHapaa

Here are some examples how you read the cardinal numerals:

‘21 ‘I[B@I[@CCT 1 €HO
‘321 ‘TngTa JIBAJIECET U €JIHO
‘4 321 ‘IIQTI/IpI/I XWISAW, TPUCTA IBAJECET 1 €HO

‘12 345 ‘HB&HQI{CCGT XWISAN, TPUCTA YETUPUIECET U TET

.

1 234 567 |CAUH MHUIMOH, IBECTA TPUACCET 1 YETHPH XUIIS/H, IETCTOTHH
MECTACCET 1 CEAEM

The conjunction 1 (and) is added between the second and the third member of each
group of three digits.

The cardinal numerals have special forms called "male-person" cardinal numerals
(MBKKOJIUYHU Opoiinu unciauTesHu) . They end in -(m)ma and are regularly
derived for the numerals from 2 to 6: 1Bama (2), TpuMa (3), YeTHpuMa (4),
netuma (5), mectuma (6). They also appear in complex forms: n1Banecer u a1Bama
(22), cTo meTaeceT U meTuMma (153), etc. For the numerals for 7, 8, 9 there are
forms that look like cenmuna (7), ocMuna (8), neBermuHa (9) but they are hardly
used nowadays; the ordinary cardinal numerals are used instead. The "male-
person" cardinal numerals are used only with nouns that denote male persons and
after them the noun is in its regular plural form not the numerical form. To use this
form for a group of people it is enough at least one of them to be male. Here are
some examples:

B xadenero umarie merumMa JIyIim - €IMH MbX U YETUPH JKEHHU.
There were five persons at the cafe - one man and four women.

Ot yeTHpHMaTa ChJuU ABaAMA 0sfXa MBXKE U JBE - )KEHHU.
Out of the four judges two were man, and two - women.




B Tearbpa umarie cTo ABaJ€CeT U OCEM 3pUTEIU U CaMO CTO U IBAJIECET MECTA.
There were one hundred twenty eight spectators in the theatre and only one hundred and
twenty seats.

If you do not know, or do not want to specify the exact number of the objects you
talk about you can use some forms specialized to express approximate number.
These forms are derived by joining two neighbouring or belonging to the same
class numerals, e.g. equn-1Ba (e1HA-IBE, €HO-IBE) (one or two, a couple of), ABA-
TPH (ABamMa- TPUMA, IBE-TPH) (two or three, a couple of), HIECT-ceAEM, (SiX or seven)
JeTHPHHAAeceT-IIeTHaAeceT (14-15), ocemaeceT-aeBeraecer (80-90), ABecTa-
TpHCcTa (200-300). For the numbers 10, 15, 20, 30, 40, 50, 60, 70, 80, 90 and 100
there are special forms derived by adding the suffix -una: necermna (about ten),
ABajJeceTHHA (about twenty), CTOTHHA (about one hundred). Here are some examples:

MBan HMa MHOIO NPUATEIIN - CAMO JIBAMA-TPUMA OT CTYJEHTCKUTE TOJIMHMU.
Ivan hasn't got a lot of friends - just a couple from the years at the university.

Cenuero € MaJIKO - UMa Ce1eMCTOTHH-0CEMCTOTHH KU TEJIN.
The village is small - there are about seven-eight hundred residents.

[Touakax meTHageceTHHA MUHYTH U CH TPbI'HAX.
I waited about fifteen minutes and left.

The cardinal numerals can join the definite article, if needed. Usually they join the
article for the plural -1 1". The cardinal numerals that end in -A join the article -
The cardinal numeral for 1 derives its forms with the article like the adjectives:
emuH s (T), eqHara, exH 1o, eqaurc, and the cardinal numerals for 1,000,000 and
1,000,000,000 join the article like the masculine nouns: MuIHOH"/ MUJTUOHET,
mMuHapa:/munuapasT. Here are some examples:

JIBE - JIBE1C, YETUPHU - YCTUPH ¢, TIET - MET' ¢, TBAHAIAECET - IBAHAIECET |,
TPUIECET - TPUAECET ¢, CTO - CTOT ¢, XUJISAIU - XWIAINA 1, MIJIMOHU - MUJIMOHH | C,
MUWJIHAP]IU - MATTAAPAN

JIBa - JIBA’7, IBaMa - iBama’ 1, TpuMa - TpuMal, TPUCTa - TPUCTA 1, CTOTHHA -
CTOTHHAT:, XWISLIA - XUJIgaa



Ordinal Numerals

The ordinal numerals (peanu uncauresann), just like the adjectives, are used as
attributes in the sentence. They agree in gender and number with the nouns they
qualify, so they have forms for the three genders and for the plural, and they can
join the definite article. The forms for the ordinal numerals, as a rule, are derived
from the form for the cardinal number by adding endings -1, -A, - , -U for the
masculine, the feminine, the neuter and the plural. Here are some examples (the
accented vowel is underlined):

net - nerll, netA, ner , netl (fifth)

miect - mecth, mectA, mect , mecth (sixth)

ceneM - ceqMll, cenMA, ceaMm |, cenml (seventh)

oceM - ocMl 1, ocMA, ocM , ocMU  (eighth)

JIEeBET - AeBeT), neBeTA, neBer , aeBerll (ninth)

Jecet - aecetl, meceTrA, mecer , pecetl (tenth)

Tpuaecer - Tpuaecerll, tpunecetA, tpuaecer , tpunaecetl (thirtieth)

However, not all the ordinal numerals are derived like this. The ordinal numerals
for the 'hundreds', for xunsna', 'Munuon', 'Munuapa' are derived by adding the
suffix -EH (the E disappears in the forms for the feminine, the neuter and the
plural):

CTO - CTOTE€H, CTOTHA, CTOTH , CTOTHU (hundredth, 100”‘)

XWigaa - XWigaeH, XWigaHa, XWIsAH , XWISIHU (thousandth, 1,000“1)

MUJIMOH - MUJIMOHEH, MUJIMOHHA, MUJIMOHH , MUJIMOHHK (millionth, 1,000,000“‘)
MUJIMApJ - MAJTHAPICH, MAJIMAPAHA, MIJIHApIH , MUITHapaHu (billionth,
1,000,000,000™)

The ordinal numerals for 200 and 300 - 'nBecToTeH' ('two-hundredth’, 200™),
'rpuctoreH’ (‘three-hundredth', 300™) sound clumsily and are barely used.

The ordinal numerals for 1, 2, 3, 4 are more or less irregular. Here they are:

1 - mbpBY, ObpBa, ILPB , IbpBU (first)

2 - BTOp, BTOpA, BTOpP , BTOpU (second)

3 - TpeTu, Tpera, TpeT , TpeTu (third)

4 - 4eTBBPTH, YETBBLPTA, YETBLPT , YETBBPTU (fourth)

In the complex forms of the ordinal numerals - all numbers over 20, only the last
numeral is ordinal. It changes in gender and number, and joins the article, if
needed. Here is an example:



123 - cto nBaaecer u TpeTy +(T)) /TpeTa /Tper /Tperu ((the) one
hundred twenty third)

Fractions

The fractions (apo6u) consist of two parts - numerator (uucjmTes, above the line)
and denominator (3namenare., below the line). The numerator is always a
cardinal numeral (in the feminine if the number is 1 or 2); the denominator is
always an ordinal numeral (in the feminine if the numerator is 1, or in the plural if
the numerator is any other number). Here are some examples (the accented vowel
is underlined):

‘1/6 ‘ez[Hg 1IecTa

2/6 JIBE IIECTH

8/6 0CeM IIECTH

‘1/3 ‘e):[Hg Tpera

‘2/ 3 ‘ILBQ TpETH

3/3 Tpu TpeTH

1/100 €JIHa CTOTHA

2/100 JIBC CTOTHH

‘3/ 100 ‘Tpg CTOTHM

1/123 €IHa CTO JBAJIECET U TPETa
2/123 JIBE CTO JIBAJIECET U TPETH
‘108/ 123 ‘CTQ 1 OCEM CTO JIBAJIECET U TPETH

The fraction 1/4 is read 'enna 4eTBBPT', not 'eqna yetBnbpTa'. The fraction 1/2 is
read 'eqna BTopa' in mathematical context and 'momoBuH(a)' in other cases.
Decimal fractions are read like other fractions: 0,1 - 'eqna necera', 0,01 - 'equa
crortHa' etc. TlonoBuH' is used in front of a noun, and 'monoBuHa' is used
independently:

n0JIOBUH 4Yac (halfan hour)

JIBA Yaca W nmoJIoBHHA (two hours and a half)

oyJI0BUH KwtorpaM (half a kilogram)

JIBa KWJIOrpama u rmosioBuHa (two kilograms and a half)



UetebpT' 1s used both independently or in front of a noun:

YETBBPT Yac (a quarter of an hour)
4ac U 4YETBBPT (an hour and a quarter)
YETBBPT KWIO (a quarter of a kilo)
KWJIO M YETBBPT (a kilo and a quarter)

The Personal Pronouns

The personal pronouns (uyHu MecTouMeHusi) are words that replace nouns or
noun phrases, i.e. they are proper pronouns. They are called "personal" not
because they stand for nouns for persons but because they have the grammatical
category "person". They refer to something that was previously mentioned or that
is clear from the situation:

I'oBopux ¢ UBaH U TOM ce chIyIacy Ja JOMIE C HAC.
I spoke to Ivan and he agreed to come with us.

In the example above the personal pronoun "Toii" (he) replaces "UBan", i.e.
something previously mentioned. The personal pronoun "nac" stands for "I and
you" and it is clear from the situation that it refers to the person who is speaking
and the person(s) that is (are) spoken to.

The personal pronouns have the following grammatical categories: person,
number, and the forms for the 3™ person singular have also gender. Although
there are no declensions in Bulgarian, still there are in use some remnants of old
case forms of the pronouns. The personal pronouns have forms for the
nominative, the accusative and the dative. For the accusative and the dative there
are two forms - long and short. The long forms for the dative case nowadays sound
archaic and they are substituted by complex forms consisting of the preposition
"HA'" and the long form for the accusative case. All the forms are given in the
table below:

PERSONAL PRONOUNS



‘ Case ‘Nom ‘Engl ‘ Acc ’Engl ‘ Dat ‘Engl

‘ Forms ‘ ‘ ‘ Long ‘ Short ‘ ‘ Long | Complex ‘ Short ‘
‘1 p. sg ‘§3 ‘I ‘MQHG ‘Me ’me ‘MQHG |Ha MCHE ‘MI/I ‘to me
to
2p.sg TH |you ([rebe |Te you TeOe HaTeOEe |TH you
2p.s to
P- 58 Bue |you (Bac Bu you |Bam Ha Bac Bu
polite you
3p.sg . . to
ToM e |HEro [ro him |HeMy |Ha HETO My ;
masc. him
o o to
3p.sgfem. tga  |she |Hes s her |Hel Ha Hes i her
3 p.sgneut. To it HEro |ro it HEMY |HA HETO |MYy (to it)
‘1 p. pl ‘ng ‘we ‘ch ‘HI/I ‘us ‘H@M |Ha HacC ‘HI/I ‘to us
to
2 p.pl BHE |you |BacC BU you |Bam Ha Bac BU you
t
3p.pl TE they |Tax ' them |TsMm Ha TIX UM tﬁem

There is a special, polite form for the 2™ p. sg. It is used as a polite address to a
stranger or a superior. Actually, it is the form for the 2™ p. pl, only it is capitalized.
The short dative form for the feminine singular contains the vowel "u" but it is
written like "it" to be distinguished from the conjunction "u". The short forms are,
as a rule, unaccented. They are accented only when they appear after the negative
particle "ne", e.g. "He e uyx. He mu Bukaii! (I didn't hear you. Don't shout at me!)".

The short forms are used more often than the long forms. As a rule their position is
in front of the verb. Sometimes, though, they appear after the verb because they
cannot appear in clause-initial position. The position of the long forms is after the
verb:

A3 Te iutam. [luram Te. A3 nutam Tebde.
I (am) ask(ing) you.

A3 T roBops. ['oBOpst TH. A3 rOoBOpsi Ha Tebe.
I (am) speak(ing) to you.

The short forms and the long forms are identical in meaning. The long forms for
the dative case are considered archaic, so the complex forms are used instead. The
forms for the accusative case are used with transitive verbs that have been used
transitively. The forms for dative case are used with intransitive verbs or with
transitive verbs that have been used intransitively (be aware that in one



language a verb may be transitive, and in another language the same verb may be
intransitive!):

A3 niutam Tebe, He HEro.
I (am) ask(ing) you, not him.

A3 iuTam 3a Tebe.
I (am)ask(ing) about you.

A3 BbpBS KbM Te0E.
I (am) walk(ing) towards you.

The short forms for the dative case substitute only the complex form, i.e. the
combination of the preposition "HA" + the long form for the accusative.
Combinations of other prepositions and the long form for the accusative cannot be
substituted by the short form for the dative case, neither can the short forms appear
after prepositions (there are some exceptions but we'll not go into such details).
Here are some examples:

A3 TOBOpS HA HEro0. A3 My TOBOpAI.
I (am) talk(ing) to him.

A3 TOBOpS 3a HETO.
I (am) talk(ing) about him.

WBaH xvBee Ha MbpPBUS €Tax. A3 )KUBES TOYHO HAJl HETO, HA BTOPUS €TAXK.
Ivan lives on the first floor. I live right above him, on the second floor.

The Possessive Pronouns

The possessive pronouns (MpUTeKATEJTHA MeCTOUMEHHs1) are words that indicate
possession, and they replace either adjectives that denote personal possession, or
possessive constructions of the type "preposition HA +noun", e.g. "Mapuunara
cecTpa =cectpara Ha Mapmus > HeliHaTa cecTpa, cecTpa i (Maria's sister=the sister
of Maria > her sister)".



The possessive pronouns have the grammatical category "person", and special
forms for the three genders and for the plural, as well as short forms. The long
forms can join the definite article but the short forms cannot. All the forms are
given in the table below:

POSSESSIVE PRONOUNS

por | Mase | Femin [ Newt | Pun[guo e
m 32;1_ definite non-def. |definite |non-def. |definite |[non-def. |definite t .
lstp

o " Mol |[MosA(T)  MOsI  |MOATa MO MoeTo |MoOM  |MouTe |MHM |my
2ndp

sg " |TBOIi [TBOA(T) | TBOSI |TBOATAa |TBQ  |(TBOETO (TBOM |TBOMTE |TM  |your
2" p.

sg Bain |Banmsa(t) Bama Bamara Bam |[Bamero |Bamu |[Bamwmre |Bu  |your
polite

31 p. |[Hero |neroBusi( HEIrOB |HEroBaT HErOBOT |HET'OB |HETOBUT .
= . = - HEroB | ~ = = My |his

msg |B T) a a = 0 " e
34 p. HEUHUSI(T . . . . . . .
fsg HEHH )— HENHA HeliHaTa [HeWH |HEWHOTO HeWHW HEHHUTE || her
34 p. HEro |[Herosus( |HErOB HEroBaT HErOB HETOBOT |HEI'OB |HETOBHUT . it
nsg |p T) a a 0 " e y
ISt p
ol " |Ham |HamwA(T) HAINA |Hamlata HANI |[HANIeTO |HAINM |HAIIUTE HH  |our
21’1d p
ol " |Bamr [BaumsA(T) |BAINA |Baliata |BAIN  (BAalIETO |[BAINM (BAMTC BH  |your
3I‘d

p. |Texe :
ol N TeXHUA(T) TAXHA [TAXHATa |THAXH |TAXHOTO |TEXHU TexHute MM |their

There is a special, polite form for the 2™ p. sg. Just like the polite form of the
personal pronouns it is used when you talk to a stranger or a superior. Again, it is
the form for the 2™ p. pl, only it is capitalized. The short dative form for the
feminine singular contains the vowel "u" but it is written like "i1" to be
distinguished from the conjunction "u". The short forms are, as a rule, unaccented.

The long forms agree in gender and number with the nouns they qualify, and can
be used with the definite article as well. Their position is in front of the noun.
The long from of the possessive pronouns can take any place among the attributes
preceding the noun. In case it occupies the first position in the noun phrase, and the




definite article is needed, the definite article is joined to the possessive pronoun, as
it is joined to the first attribute of the noun phrase. The long forms can also be used
in the predicate. In other words, they behave exactly like the adjectives:

To3u BaII HABUK € MHOTO JIONI.
This habit of yours is very bad.

Helinure poguTeny ;KUBEAT B IPYT Tpaj.
Her parents live in another city.

O6anu ce enuH TBOM TPUATET.
A friend of yours phoned.

VBaHOBM ca HEroOBY MPHUITENN.
The Ivanov family are friends of his.

ToBa Hama 1a 6b1¢ Bai mpoGiem.
This is not going to be your problem.

Ta3u kHHUra € Mosi, a TOBa CIIMCaHUE € TAXHO.
This book is mine and this magazine is theirs.

There is only one short form for the three genders and the plural, i.e. it does not
agree with the noun and cannot be used with the definite article. The position of
the short forms is after the noun and it is used only after nouns that have definite
article with exception of some nouns for relatives. Here are some examples:

[Tpe3 1996 r. maaausat 6barapcku nucaten Jumutsp BaHoB myOnuKyBa e1uH
pOMaH, €Ha Mueca, €THO €CE€ U HAKOJIKO pa3kasa. Poman U pa3kasure My
uMaxa rojisiM ycruex, HO Imiecata My U ece 0s1Xa MbJICH MPOBAJ.

In 1996 the young Bulgarian writer D. I. published a novel, a play, an essay and some short
stories. His novel and his short stories had great success but his play and his essay were a

complete failure.

(Actually it is much better to say "PoMansT U pa3ka3zure My UMaxa rojigM ycriex, HO Iiecara u ece My 0gxa
nbiieH nposai." - "His novel and short stories had great success but his play and essay were a complete failure.'
but the version with the four possessive pronouns is also an option.)

PoauTennTe ii 651Xa BE3pAaCTHUA U ©Maxa HY)KJIa OT TIOCTOSTHHYU TPHKU. MbiK
Y Aenara il MHOrO ¥ moMaraxa, 0COOEHO CHH
Her parents were elderly and needed constant care. Her husband and her children helped

her a lot, especially her son.

(Again, it's better to say "Mb:KLT 1 Aenara it MHOTO i momaraxa, ocodeno cuHsnT (if)." - "Her husband and
children helped her a lot, especially the/her son." but once again the sentence in the example above is an
option.)

- Kbje xuBesT Maidka 1 1 6ama 1u?



- B I1noBauB, TaM )KUBEST U OpaT U cecTpa Mu.
- Where are living your mother and (your) father?
- In Plovdiv, there live also my brother and (my) sister.

baba my u g0 My MHOrO OOHUYaT AbIIEPS MY.

His grandmother and (his) grandfather love very much his daughter.

(In this case when the nouns for relatives do not join the definite article it is not possible to
omit any of the short forms of the possessive pronouns because they define the nouns and, in
a way, compensate the lack of the definite article.)

As you have probably noticed the short forms of the possessive pronouns and the
short forms of the personal pronouns for the dative case are the same. The only
difference is that the short forms of the personal pronouns are used in front of the
word they refer to, i.e. the verb, and the short forms of the possessive pronouns are
used after the word they refer to, i.e. the noun. Thus it can happen that a form of
the possessive pronoun is followed by a dative form of the personal pronoun for
the same person and number, for example:

[Ipugrensat my my npencrasu Mapust.
(His friend introduced Maria fo him.)

Although the position of the short forms of the possessive pronouns is after the
noun, in certain occasions it can occur before the noun. If the noun has got one or
more attributes (usually placed in front of the noun) the short form of the
possessive pronoun is placed after the first attribute:

Hetinaio mpira depHa Koca 0J1eCTH Ha CIBHIIETO.=

=JIpnrara M yepHa Koca OJECTU Ha CABHIIETO.
(Her long black hair glitters at the sunshine.)

The Reflexive Pronouns

There are two types of reflexive pronouns (Bb3BpaTHH MeCTOMMEHMS ):

e personal
e possessive.

Both types have long forms and short forms.



The reflexive personal pronouns have forms only for accusative and dative cases.
They have no forms for nominative, as their function is to refer the direct or the
indirect object back to the subject of the sentence, i.e. they are never used in the
role of subject of the sentence.

The reflexive possessive pronouns qualify objects and adverbial modifiers but
never the subject of the sentence. The forms for the feminine, the neuter and the
plural join the definite article following the same rules as the adjectives or the
ordinary possessive pronouns. The long form for the masculine gender cannot join
the long form of the definite article as it never modifies the subject. The forms of
the reflexive possessive pronouns mean that the "possessor" and the subject of the
sentence are the same. The short forms of the reflexive possessive pronouns are the
same as the short dative forms of the reflexive personal pronouns.

Here are the forms:

Reflexive Personal Pronouns

Accusative Dative
long form short form long form short form
cede cu ce (una) cebe cu cH

Reflexive Possessive Pronouns

masculine feminine neuter plural short form

CBOM CBOSA cBOE CBOM cH

Here are some examples how you use the reflexive pronouns:

Eauna ornexna cede cu B Oriaeaanoro.=

=Eaumna ce oriexmaa B orjaeaaioTo.
(Elitza is looking at herself in the mirror.)

HNBan xymnyBa 3a ce0e cu KHUra, a 3a Enuna - users.=
= IBaH cHU KylyBa KHUTa, a 3a Enuna - users.
(Ivan buys for himself a book and for Elitza - flowers.)

Muna e nmpugrenka Ha Enuna.

Mumuta roBopu ¢ HeliHaTa cectpa. = Muiia ToBOpH ChC cecTpa i. (cecTpara Ha
Enuua)

(Mila is Elitza's friend. Mila is talking with her sister. (the sister of Elitza))

Mumuia e npugrenka Ha Enuna.
MuJia ToBOpH ChC ¢BOsITa cecTpa. = MHJIa TOBOPH ChC CECTpa CH. (CecTpaTa Ha
Murna)




(Mila is Elitza's friend. Mila is talking to her own sister. (the sister of Mila))

Jenara oouyat cBOUTE POAUTEIIN.=

= Jlemara oOHyYaT poIUTENHUTE CH.
(The children love their own parents.)

Jeuara yBaxkaBaT poaurtenute Ha Auu u 11eTsp.

Jlenara yBa)kaBaT TEXHUTE POJUTEIIN.=

= Jlemata yBaxkaBar poaureynure uM. (poaurenure Ha AU u [1eTbp)

(The children respect the parents of Annie and Peter. The children respect their parents. (the
parents of Annie and Peter))

The Interrogative Pronouns

There are several types of interrogative words that are traditionally included in the
group of the interrogative pronouns (BbnpocuTeiHu Mecroumenusi) . There are
interrogative words for persons and objects - the proper pronouns; there are also
interrogative words for qualities and possession - they are actually "proadjectives";
there are also "proadverbs" and even some "pro-verbs". Still, for practical
purposes we'll continue to call them all interrogative pronouns. It is important to
learn their forms well because they are the basis from which the forms for four
other types of pronouns are derived. Here are the forms of the interrogative
pronouns:

Pronouns and "Proadjectives"

For Persons and

Forms . For Qualities For Possession
Objects Q
KOH (Nom.)

Masculine [koro (Acc.) KaKbB Yu

KOMY= Ha KOro (Dat.)

Feminine |kos KaKBa yns

Neuter Koe KaKBO yne




‘Plural ‘KOE ‘KaKBg |tmg

‘English ‘who ‘what |wh0se
\ "Proadverbs"
‘For Quantity ‘how much, how many ’RQJIKO
For Place where (to, from) KbJie (HAKb/E, OTKb/IE)
For Time when (since when, untill Kora (OTKOra, 10K0ra)
when)
‘For Reason ‘why |3amg
‘For Manner ‘how |Kgl<
The Bulgarian Verb

So far I would like to believe that the grammar of Bulgarian was neither difficult
nor challenging for most of the foreigners that have chosen to study Bulgarian.
Apart from the verb, all the other part-of-speech classes in Bulgarian could be
compared to planets within the solar system of Bulgarian grammar. Unfortunately,
the verbal system of Bulgarian should be compared to nothing less but a galaxy.
However, you have to master the verbal system of Bulgarian if you want to master
Bulgarian, as the predicate is in the core of the communication, and the verb is the
core of the predicate. It is of little consolation to be reminded that in other
languages that have declination you have to master the declination as well. The
richness and the complexity of the verbal system in Bulgarian is a complete
"compensation" for the simplicity of its nominal system.

So, let's take a deep breath and face the beast!

A verb, as you know, is a word that describes, refers to an action, a state of being
or experience of the subject of the sentence. It is the principal element of the clause




which connects the subject to the other words.

The verbs in Bulgarian have up to 3, 000 (!!!) different forms. This is due to the
fact that there are six grammatical categories - person (with three subcategories -
1%, 2™ and 3™ person), number (with two subcategories - sg and pl), aspect (with
two subcategories - imperfective and perfective aspect), tense (with nine
subcategories - present tense, aorist, imperfect tense, future tense, perfect tense,
plu(squam)perfect, future perfect tense, future in the past tense and future perfect
in the past tense), voice (with two subcategories - active and passive voice) and
mood (with four subcategories - indicative, imperative, conditional and the so
called "reported" mood). In addition to that there are five participles (three active
participles - present, aorist and imperfect, and two passive participles - present and
past) and a few other non-finite verb forms - the verbal adverbs, and the verbal
nouns with the suffixes -HE, -HUE.

There are three conjugations according the present-tense stem and several (up to
ten) classes according to the aorist stem. There are two auxiliary verbs (¢sM - "to
be", and ma - "to want"), no infinitive, three sets of personal endings (one for the
past tenses and two for the present tense) and two basic temporal stems from which
all those 3, 000 forms are derived. Let's have a closer look at the stems first.

The verbs that belong to the 1% and the 2™ conjugation have two basic temporal
stems - the present-tense stem and the aorist stem. Most often these stems are
different, but sometimes it may happen that they appear to be identical (e.g.
Monu|m > mosu- for the present tense and monu|x > moeJsmm- for the aorist). The
verbs that belong to the 31 conjugation always have identical stems for the present
tense and the aorist, i.e. they have only one stem.

The present-tense stem is what is left when you remove the personal ending -111
from the form for the present tense, 2™ person sg (the stem vowel doesn't appear in
the forms for the 1** person sg and the 3™ person pl of the verbs that belong to the
1% and the 2™ conjugation, the 3™ conjugation is athematic). Here are some
examples:

| Basic Form | 2" p. sg | Stem
‘qu| a (to read) |qug|m ‘qug—

‘OTE,Z[|& (to go) |0Tg}:[e|m ‘OTE)IC-

‘HQ,Z[H|3 (to fall) |H§,Z[H€|IH ‘r@;{He—

‘HJ’I@‘-I|& (to cry, to weep) |nn§qe|m ‘rm@qe—

Kax|a (to say) Kake|I KaXKe-

‘Hgm|a (to write) |Hgme|m ‘n@ne-

nujsa (to drink) nye|m nue-




‘)KI/IB§|$I (to live) |>KHBge|m ‘)KI/IBge-

‘3H§|${ (to know) |3ng|m ‘nge-
‘Bglﬂﬂ (to see) |Bgm/1|m ‘Bg;m-
‘K@H|}I (to invite) |KgHH|1H ‘K@HI/I—
‘MQJI|5I (to ask, to beg) |MQJ'II/I|IH ‘MQJII/I—
yd|a (to study) yUu|II YUH-
CIIOX|a (to put) CIIOXKH|TIT CIIOXKH-
cymila (to dry) ey cymp-
CTO|4 (to stand) CTOH|III CTOM-
‘gMa|M (to have) |gMa|IJ1 ‘gMa—
‘CTng'ISI|M (to shoot) |CTng15[|IJ1 ‘CTpQJISI—
‘EI[Ba|M (to come) |gz[Ba|1H ‘@Ba—
g:;};ﬁ&_)mam (to destroy, to baspymasalm paspymaa-
‘saﬂeﬂgBa|M (to ice over) |3anez[gBa|m ‘3aﬂe):[gBa—
‘KYHYB21|M (to buy) |KyHyBa|m ‘KynyBa-

This stem is used when the following forms are constructed: the present tense, the
simple forms for the imperative mood, the present active participle, the imperfect
tense, the imperfect participle and the verbal adverb. Actually all those forms, apart
from the forms for the present tense and the imperative mood, are derived from the
imperfect-tense stem. The imperfect-tense stem is what is left when you remove
the personal ending -X from the form for the imperfect tense, 1* person sg. But the
imperfect-tense stem is not considered to be a basic temporal stem of the verbs as it
1s derived from the present-tense stem by replacing the stem vowels -e-, -u- in the
present-tense stem of the verbs from the 1% and the 2™ conjugation with the suffix
for the imperfect tense -e-/-s1- (mutating ). The verbs that belong to the 3™
conjugation have only one stem (as it was mentioned above). When you construct
the imperfect-tense stem you should use as a basis the form for the present tense,
1* person sg, as the stem vowel does not appear in it and you have to remove only
the personal ending. Here are some examples how the imperfect-tense stems of the
verbs from the 1** and the 2™ conjugation are constructed:

4yeT-a > yeT-+s/e; > yetd|X (I was reading)

KaX-a > Kax-ts1/e; > Kaxe|X ((whenever) I said)
3Ha-s1 > 3Ha-+s1/e; > 3Hae[X (I knew; I used to know)
BU/JI-51 > BUJI-+51/€;> BHJIE|X ((whenever) I saw)
CylI-a > cymi-t+si/e;> cyma|x (I was drying)

Opo-s1 > Opo-+s1/e;> Oposi|x (I was counting)



The aorist stem 1s what is left after you remove the personal ending -X- from the
form for the aorist, 1*' person sg of the verbs that belong to the 1* and the 2™
conjugation. As it was mentioned above, the verbs that belong to the 3™
conjugation have only one stem. This stem is used when the following forms are
constructed: the aorist, the aorist participle, the past passive participle and the
verbal nouns with the suffixes -HE, -HUE. Here are some examples:

ka3a|x (I said) > ka3a-
ckpu|x (I hid) > ckpu-
BUg|X (I saw) > BH/S-
cym|x (I dried) > cymiu-
opou|x (I counted) > Opou-

The verbs that have the suffix -O- in the aorist stem (e.g. uero|x) show some
irregularities when the aorist participles and the past passive participles are
constructed. (For details go to the chapters on the aorist participle and the past
passive participle.)

There are two sets of personal endings of the verbs in the present tense. Here they
are:

For the 1st and the 2nd conjugation:

| 1" p. sg | -A/-S1

| 2" p. sg | -1
3" p. sg -
1% p. pl -M

| 2" p. pl | -TE

| 3 p. pl | -AT/-SIT

For the 3rd conjugation:

| 1 p. sg | -M

| 2" p. sg | -1
3" p. sg -
1% p. pl -ME

| 2" p. pl | -TE

| 3 p. pl | -T




From contemporary point of view the personal endings for the two simple past
tenses - the aorist and the imperfect - are the same. Only in the aorist the forms for
the 2"¢ and the 3" person sg join no ending while the corresponding forms for the
imperfect tense join the ending -IIIE. The two tenses are differentiated by their
stems. Here are the endings for the simple past tenses:

| 1% p. sg | -X
ond p. sg -(aorist)/-IIE(imperfect)
3t p. sg ~(aorist)/-IIEmperfect)
| 1* p. pl | -XME
2" p. pl -XTE
| 3 p. pl | -XA

The two auxiliary verbs are ¢bM (to be) and mia (to want). The verb ¢bMm is
universal as an auxiliary verb and its forms are used widely to construct most of
the complex verb forms. The verb has got suppletive (i.e. derived from different
roots) stems for the present tense, the aorist and the future tense. Here follow the
paradigms of the verb ebMm for the present tense, the future tense, the imperfect
tense and aorist, as well as the aorist participle:

\ Form ‘ Pres. ‘ Future | Imp. | Aor.
1" p. sg ChM 1ie 0b1a/11e ChM 05X oux
2" p. sg | cH | me 6premy/me cu | be(mre) | ou
3" p. sg e 11e ObJe/11e € oOe(11re) ou
1% p. pl cMe 1re ObAeM/11Ie CMe OsIXMe ouxmMe
2" p. pl | cTe me Gpaere/me cre | OsxTe | ouxre
3" p. pl ‘ ca ‘ e Opaar/iie ca | Os1xa | ouxa
‘aor. participle ‘ oun, ouna, buno, ounu

The verb ma is used only to construct the forms for the future tenses. For the future
tense and the future perfect tense is used the form for the 3™ person sg, present
tense - LIE for the whole paradigm, and from contemporary point of view it is
considered a particle. The aorist participle IIAJ (IUAJIA, A0, HIEJIN) is
used to construct the forms for the future tenses of the "reported" mood. The full
paradigm of the verb ma in the imperfect tense is used to construct the forms for
the future in the past tense and the future perfect in the past tense. Here is the
paradigm of the verb ma for the imperfect tense:

| 19 p. sg | X




| 2" p.sg | IIELIE
| 3 p. sg | IELIE
| 1* p. pl | LISIXME
| 2" p. pl | HISIXTE
| 3" p. pl | HISIXA

Aspect of the Verb

The aspect of the verb (Bua Ha ri1arosa) is a way of looking at the action. There
are two aspects of the verb in Bulgarian (and in the other Slavic languages) -
imperfective (HecBbpmen Bua) and perfective (cBepien Bua). Some languages
do not express such kind of differences by grammatical means; other languages
express by grammatical means different aspectual distinctions. In English, for
instance, there are perfective (the perfect tenses) and progressive (the continuous
tenses) aspects.

The main difference between the imperfective and the perfective aspects in
Bulgarian is that the perfective aspect implies a completed single action, while
the imperfective aspect simply does not give any implication whether the action
is single or not, whether it is completed or not. Very often, though, when opposed
to the perfective aspect, the imperfective forms imply the opposite of what the
perfective forms imply - a single but uncompleted action (i.e. action in progress)
or an action that has been successfully completed more than once (i.e. iterative,
habitual action). Here are some examples:

Yr1pe e ce 00a/19 Ha Maiika CH.
I'll phone my mother tomorrow. (The event is planed as a single completed action.)

Beue Bcska cenMuIia ie ce 00a:€aamM Ha Maiika CcH.
From now on every week I'll phone my mother. (The action is intended to be completed
successfully and repeated more than once.)

YTpe cnenoben e ce moAroTBsIM 32 H3MUTA MO0 aHTJIUHCKH.
Tomorrow afternoon I'll be preparing myself for the English language test. (The action will
be in progress by tomorrow afternoon.)




Most of the verbs have forms both for the perfective and the imperfective aspects.
There are, however, some verbs that have forms only for the imperfective aspect
(e.g. BuKaM (to shout), BLPB (to walk, to go), rieiam (to look), roBopsi (to talk), TOTBs
(to cook, to prepare), KHUBE (to live), MUCIIA (to think), My (to wash), e (to sing),
nuima (to write), 1us (to drink), cris (to sleep), X074 (to go, to walk), y4a (to study), yeta
(to read)). We could call them "imperfectiva tantum", just like the nouns that have
forms only for the singular or only for the plural are called "singularia tantum" or
"pluralia tantum". These verbs are not derived from other verbs, they are "primary"
verbs in that respect (but they can be derived from nouns, adjectives etc.). The fact
that almost all the verbs in Bulgarian come in perfective-imperfective pairs means
that those pairs are not two different verbs but two forms of one and the same verb.
This also means that the verbs, unlike the Russian verbs, are not classified as verbs
that belong to the perfective aspect and verbs that belong to the imperfective
aspect. In Bulgarian verbs "change" in aspect, i.e. they have forms for both the
imperfective and the perfective aspects. Although these forms belong to different
conjugations, they are considered forms of one and the same verb, not two close
but different verbs.

Perfective verbs can easily be derived from "primary" imperfective verbs by
adding prefixes or the suffix -H-:

nus (to drink) > nuiiHa (to take a drink), Jionus (to finish (o.'s drink)), 3amus ce (to
booze), n3mus (to drink up), Hamus (ce) (to get drunk)

BHUKaM (to shout) > BUKHA (to cry out), 3aBUKaM (to begin to shout), M3BHUKaM (to call, to
cry out), TTOBUKaM (to call in, to send for), pa3BuKaMm (ce) (to burst into shouts)

It should be pointed out immediately that the basic imperfective verb (e.g. musi)
and the verbs derived from it by the means of prefixes or the suffix -H- (e.g.
MHAHA, J0THS, 3anus ce, n3nus, Hamus (ce)) are different verbs, not two or more
forms of one and the same verb. Despite the fact that the basic verb and the
derivatives belong to the same conjugation (except the derivatives with suffix -H-)
and the closeness of the meaning of the basic verb and the derivatives the latter are
new verbs. The prefixes and the suffix -H- not only change the aspect of the verb
stem to perfective but also add to the lexical meaning of the new stem thus
producing a new verb.

For these perfective verbs, as well as for the "primary" perfective verbs like Buist
(to see), cripa (to stop), Kaxka (to say), ka4a (to lift up), KyIis (to buy), rats (to pay)
imperfective FORMS can be constructed by adding the suffixes -a-/-s1-, -Ba-, -
aBa-/-siBa-, -yBa-. These suffixes add NOTHING to the lexical meaning of the
stem, they only change the aspect of the verb to imperfective. The basic perfective
forms and the derivatives are forms of one and the same verb despite the fact that
most often they belong to different conjugations. If the perfective verb contains the
suffix -H- or the suffix -A- the suffix is first removed and after that the
imperfectivating suffix (usually -BA-) is added. Here are some examples:



BUJIS (BUIM|IIT) > BHKAAM (to see)

riaTs (TUIATH|I) > TUIAIaM (to pay)

crpa (crpelin) > cnupam (to stop)

XBBPIIS (XBBPJIHU|IIT) > XBBPIAM (to throw)

OTrOBOPsI (OTTOBOPH|LI) > OTTOBAPSIM (to open)
BUKHA (BUKHE|III) > BUKBaM (to cry out)

W3BUKA|M > M3BUKBaM (to call, to cry out)

MOBUKA|M > MOBUKBAM (to call in, to send for)

Kyrst (KYIU|II) > KynmyBaM (to buy)

cTopsi ce (CTOpH|II ce) > CTpYyBaM ce (to seem/to appear to be)
MUHA (MHHE|III) > MHUHABAM (to pass)

perna (penruir) > peraam (to decide)

nocTpog (MOCTPOU|IT) > MOCTPOsiBaM (to build)
npedpos (pedpou|ir) > mpedposiBaM (to count (up))

These derivatives are called "secondary imperfective verbs" and they all belong to
the 3™ conjugation. If the basic perfective verb belongs also to the 3™ conjugation
no phonetic changes take place in the verb stem. Otherwise most often the process
of secondary imperfectivation (i.e. the derivation of secondary imperfective forms
for the perfective verbs by the means of the suffixes -a-/-s1-, -Ba-, -aBa-/-aBa-, -
yBa-) is accompanied by a change of the vowel of the root of the verb or/and a
change of the last consonant of the root. Let's have a closer look at those changes:

1. The vowel of the root of the basic verb is e and the vowel of the root of the
secondary imperfective form is u. This kind of change takes place when the basic
verb belongs to the 1% conjugation with accent on the ending (the accented vowel
is underlined) and the imperfectivating suffix is -a-:

n30epa (u30epe|ir) > u3dupam (to choose)

cpbepa (crbepe|mn) > cebupaM (to gather, to collect)
JoBIIeKa (JI0BJIeYe|1r) > TOBIMYAM (to drag up/in)
oOexa (obmeue|in) > obmuuaM (to dress)

n3MeTa (M3MeTe|1) > U3MHUTAM (to sweep (away/off/out))
noMeTa (TOMeTe|1IT) > MOMHUTAM (to sweep up)

oreka (oreue|ir) > onuyam (to bake)

n3nepa (u3nepe|in) > u3nupam (to wash (out))

3aruieTa (3arieTe|ln) > 3arIMTaM (to begin knitting; to entangle)
u3IieTa (M3IeTe|i) > U3IUIUTaM (to knit)

Hapeka (Hapeug|11) > Hapu4aM (to call, to name)

oTceKa oTceug|1n) > oTcu4aM (to cut/crop off)

npeceka (Tpeceug|iin) > mpecuyam (to cross, to cut off)
n3TeKa (u3Tede|r) > u3Tudam (to flow/run out; to expire)
noyeta (JodeTe|ur) > qounuTaM (to read/finish (a book))
noueta (MmoyeTe|In) > MOYMUTaM (to honour; to read a little)
npouerta (Ipoyvere|in) > MPoYUTaM (to read through)



This pattern is followed also by some other verbs - the prefixed perfective
derivatives of the imperfective verbs Jietsi, meJisi, also the verb nameps (they
belong to the 2™ conjugation) and the prefixed perfective derivatives of the verb
cMmes (ce) (that join the imperfectivating suffix -Ba-):

npeneTs (MpeseTH|i) > npeauTa (to fly over)

cMens (CMesM|I) > cMUJIaM (to grind, to mill, to mince, to digest)
HaMmeps (HamepH|u1) > HaMupaM (to find)

3acMest ce (3acMee|IIn ce) > 3aCMUBaM ce (to smile; to begin to laugh)
pascmes (pascmee|in) > pazcMHBaM (to make s.o. laugh)

2. The vowel of the root of the basic verb is o and the vowel of the root of the
secondary imperfective form is a. This kind of change takes place when the basic
verb belongs to the 2™ conjugation and the imperfectivating suffix is -si-(after sk
-a-):

cb00ps (cr0opu|T) > chOapsAM (to bring down, to overturn)
OTTOBOPs (OTTOBOPH|IIT) > OTTOBAPSAM (to answer)

OTpOBsI (OTPOBU|IIT) > OTPABAM (to poison)

3apoBs (3apOBH|ILI) > 3apaBAM (to bury)

U3rops (U3ropu|iir) > U3rapsim (to burn out)

y0Bs (yI0BH|1T) > yaaBsIM (to catch, to take hold of)
nopois (TIOPOIH|IIT) > TTOpAMKAAM (to cause, to bring forth)

This pattern is followed also by the prefixed perfective verbs containing the root
*noxk. They join the imperfectivating suffix -a-:

cigXa (CIOXKHU|II) > caaram (to put)

3. The vowel of the root of the basic verb is e and the vowel of the root of the
secondary imperfective form is s ['a |. This kind of change takes place when the
basic verb belongs to the 1 conjugation and contains the suffix -H-. The
imperfectivating suffix is -a- and it replaces the suffix -H-:

JerHa (JierHe|mr) > jaram (to lie down)
MeTHa (MeTHe|1T) > MsATaM (to throw, to cast)
ceqHa (ceHel|n) > cagaM (to sit)

4. There is no vowel in the root of the basic verb and the vowel of the root of the
secondary imperfective form is u. This kind of change takes place when the basic
verb contains one of the following roots - -Bp;- (to shove), -Bp,- (to boil), -3p-, -Mp-,
-np-, -c1p- (all those verbs belong to the 1*' conjugation except the verb Bpst (to
boil) from the root -Bp,-, which belongs to the o conjugation). The
imperfectivating suffix is -a-:



u3BPp4A (M3BP,H|11I) > U3BUPAM (to boil away)

HaBpa (HaBp,e|m1) > HaBUpaM (to thrust in/into, to shove)

ch3pa (Ch3per) > cb3upaM (to catch sight of)

ympa (ympelur) > ymupam (to die)

cnpa (cmpe|ir) > cnupam (to stop)

npocTpa (mpocTpe|in) > mpocTupam (to stretch out; to hang out (clothes/washing)

5. The root of the basic verb ends in mr1 or : and the root of the secondary
imperfective form ends in ¢ or 3. This kind of change takes place when the basic
verb belongs to the 1% conjugation and the imperfectivating suffix is -a-. (These
verbs have the same alternation of consonants also in the aorist stem, €. g. kaska (to
say) > Ka3ax):

KasKa (Kaxke|n) > Ka3Ba (to say)

Hapeska (Hapeske|lr) > Hapsa3BaM (to cut into pieces, to slice)
npenuia (Mpemnuiie|i) > IpemucBaM (to copy)
noMupuila (TOMUPHIIIE|IT) > MOMUPUCBAM (to smell)

6. The root of the basic verb ends in 4 or : and the root of the secondary
imperfective form ends in k or r. This kind of change takes place when the basic
verb belongs to the 1*' conjugation and the imperfectivating suffix is -Ba-:

MOJICTpHUKA (TIOACTPHIKE|IIT) > MOACTPUIBAM (to cut/trim s.0.'s hair)
3aruiayva (3aruiade|in) > 3ariakBam (to start crying)

7. The root of the basic verb ends in k/4 and the root of the secondary imperfective
form ends in 4. This kind of change takes place when the basic verb belongs to the
1** conjugation and the imperfectivating suffix is -a-, and is simultaneous to the
alternation [e:u] of the vowel of the root:

JoBJIeKa (oBJIeye|1n) > AoBIUYAM (to drag up/in)
o0neka (00meue|nr) > obmuvam (to dress)

oreka (omeye|r) > omuuam (to bake)

Hapeka (Hapede|ur) > Hapu4aM (to call, to name)

oTceka (oTcede|nr) > oTcu4aM (to cut/crop off)

npeceka (mpecede|in) > mpecuuam (to cross, to cut off)
n3Teka (u3reve|ir) > u3Tu4aM (to flow/run out; to expire)

8. The root of the basic verb ends in T or a1 and the root of the secondary
imperfective form ends in mx or 1. This kind of change takes place when the basic
verb belongs to the 2™ conjugation and the imperfectivating suffix is -a- or -apa-
(from -s1-, -sBa-). The same pattern is followed also by the prefixed perfective
derivative verbs of the basic imperfective verb Boas (to lead) (e.g. 1oBeaa
(moBene), 1% conj. (to bring along, to fetch)):



n3npats (M3npaTH|in) > unpamam (to send; to see off)
3aruiaTs (3araTH|i) > 3amiamam (to pay (for))

noceTs (IoceTH|1) > Mmocem@aBam (to visit)

ChbKpaTs (ChKpaTH|Ill) > ChKpaIABaM (to abbreviate, to reduce)
npeaBUAs (MPeaBU/M| L) > MPEABUAKIAM (to foresee)

nopo/s (TOPOAH|IT) > TOpa/IaaM (to cause, to bring forth)
no0eag (modemu|in) > nodexaaBam (to defeat, to overcome)
yoens (yoemu|ur) > yoeskaaBam (to persuade)

noBeaa (moBeae|in) > moBeskaaM (to bring along, to fetch)

Present Tense

(cerammHo Bpeme)

There are three classes or conjugations of verbs in Bulgarian according to their
stem in the present tense. The classification of the verbs in the practice is
determined by the final vowel in the 3™ person sg: E for the first conjugation,

for the second conjugation, and A/5I for the third conjugation. The first and the
second conjugations have a long history. They are thematic, i.e. they have a stem
vowel - K and 1. Unfortunately, the stem vowel does not appear in the forms for
the 1% person sg and the 3™ person pl. As in the dictionaries appears the basic form
of the verb, i.e. the form for the 1* person sg, present tense, it is not directly
obvious to which conjugation the verb belongs. The third conjugation has a
relatively short history, and it is athematic, i.e. the final vowel in the 3™ person sg
A/5l is not a proper stem vowel but a part of a suffix or the suffix itself. Here are
some examples and some practical rules how to determine the conjugation of the
verb:

Conj. 1°p. sg 3"p. sg fl:zglr(}] ;.vsvge lin
qeTa (to read) qeT
OTUAA (to o) oTuA
naaHa (to fall) nagd
miava (Tuiakax) (to cry, to weep) oruia4y
Kaxa (Ka3ax) (to say) Kaxk




1% nuiia (mgeax) (to write) TIUIIe e

1% (to drink) rms |ue ¢
1% (to live) JKHBes1 KUBEE ¢
1% (to know) 3HAs1 3Hae ¢

BH (to see) BH/I

KaH (to invite) KaH

MOJT (to ask, to beg) MOJT

y4: (Y4uX) (to study) yd

CIokK: (CIOKHX) (to put) CIIOXK

cyur: (Cymux) (to dry) Cym

(to stand) CTOs! |CTO

(to count) O6posi |Opo

(to build) cTpos! [cTpo

31 “MaM (to have) nma a
3 CTPEJISIM (to shoot) cTpenst A
3 UIBAM (to come) naBa a
3 paspyiaBam (to destroy, to demolish) paspymaBa  |a
3 3aj1eagBaM (to ice over) 3aeadaBa a
3 KYILYBaM (to buy) KyIyBa a

As you can see from the table above if the personal ending for the 1% person sg is
M the verb belongs to the 3™ conjugation. This is evident even from the basic form
because the ending for the 1 person sg is -M and this is typical only for the 3™
conjugation.

If the personal ending for the 1% person sg is -A the verb belongs to the 1™
conjugation. There are some exceptions to that rule - some verbs like yua, cioka,
cym have personal ending for the 1% person sg -A but belong to the

. This happens always after the sounds Y, 2K, III as after them you
cannot write i (or }0). But be careful: not every verb that has U, 2K, III in front of
the personal ending -A for the 1*' person sg belongs to the 2™ conjugation. Verbs
like mmaua, xaxa, numa still belong to the 1% conjugation. So, how can you tell
which verbs that have 4, 2K, LI in front of the personal ending -A for the 1*
person sg belong to the 1* conjugation and which - to the 2™ conjugation. Well,
there 1s a tip for that also: if you happen to know how the form for the aorist looks
like (which is possible, although highly improbable, usually it is the other way
around - the students know the forms for the present tense, but not for the aorist),




you will notice that the verbs that belong to the 1* conjugation do not preserve the
Y, 7K, I in the form for the aorist - they switch to K, 3, C e.g. mnaua (turakax),
Kaxka (ka3zax), numia (mucax), while the verbs that belong to the pnd conjugation
preserve the Y, 2K, LIl in the form for the aorist, e.g. yua (y4ux), cnomx: (CI0KHuX),
cymi: (CyIHuXx).

If the personal ending for the 1* person sg in the present tense is -$I the verb
belongs either to the 2™ conjugation or to the 1% conjugation. If the sound in front
of the -1 is a consonant - the verb belongs to the (exceptions: KbIfl
(to bath) - kbIIe, npems (to drowse) - Apeme, cuns (to pour) - cure). If the sound in
front of the -51 is a vowel - the verb belongs to the 1™ conjugation, except for the
verbs that have the vowel - in front of the ending -*! and the stress falls on the
ending, e.g. cros, 6pos, crposi. They belong to the

In the table below you will see the full dparadigms for the present tense of the verbs
that belong to the 1%, the 2" and the 3™ conjugation:

PRESENT TENSE
‘ Form ’ 1°* conjugation ‘ 2"! conjugation 3" conjugation
qeT- -a BUJI- -5
KYIIyBa-M
1% p. sg |kax- -a cyl- -a
CTpEIsi-M
3Ha- - opo- -5
yeT-e-1I BUJI-11-11I
KYITyBa-III
2" p. sg Kaxk-e-1m CYIL-11-1I
CTpEJIsi-IiI
3Ha-e-11 Opo-1-111
yer-e- BUJI-11-
KymyBa-
31 Kax-e- CYII-11-
p.sg Ka yi
CTpEJIst-
3Ha-e- Opo-u-
qeT-e-M BUJI-11-M
KyIllyBa-Me
1% p. pl |kaxk-e-m CyII-11-M
CTpesi-Me
3Ha-¢-M Opo-11-M
yeT-e-Te BUJI-11-T€ KyrTyBa-Te
2" p. pl Kax-e-Te CyLLI-1-
= yu-i-re CTpeIsi-Te




3Ha-e-Te Opo-1i-Te
4eT- -aT BUJI- -SIT
; KyILyBa-T
3 p.pl [kax- -at CyllI- -aT
CTpEsi-T
3Ha- -AIT Opo- -AIT

Future Tense

The forms for the future tense (0baeme Bpeme) consist of the particle LIIE for the
positive paradigm, or the construction HAMA JIA for the negative paradigm
followed by the forms for the present tense. The particle II{E originates from the
verb "IIIA" (to want). In the tables below you will find the positive and the negative
paradigms of some verbs (deta (to read), Kaxka (to say), 3Has (to know), BUIA (to see),
cyma (to dry), Opos (to count), KyITyBaM (to buy), CTpeisaM (to shoot))in future tense:

FUTURE TENSE

| Positive paradigm

Form 1°* conjugation 2" conjugation 3" conjugation
jug jug jug
yeT- -2 BUJI- -51
t KyIIyBa-M
1% p. sg KaX- -a cym- -a
CTpENsi-M
3Ha- -1 opo- -s1
yeT-e-1I B~V - 111
| KyIyBAa-1II
2" p. sg KasK-e-111 CYIII-11-111
CTpEIsi-1iI
3Ha-e-1I Opo-11-111
3"p. sg ger-e- BUJI-11- KyIyBa-




Kax-e- CyIL-11- CTpeJIsi-
3Ha-e- Opo-11-
qeT-e-M BHJI-11-M
KyIyBa-me
1* p. pl KaX-e-M CyII-11-M
cTpernsi-Mme
3Ha-¢-M Opo-11-M
YeT-e-Te BHJI-/1-Te
KyIyBa-Te
2" p. pl KaX-e-Te CyII-1i-Te
CTpesi-Te
3Ha-e-Te Opo-i-Te
YeT- -aT BHUJI- -SIT
KyIyBa-T
3" p. pl KaX- -aT CyII- -aT
CTpEIIsi-T
3Ha- -AIT Opo- -AT

Negative paradigm

Form 1°* conjugation | 2"! conjugation 3" conjugation
Jer-a BU-5I
L KyIyBa-M
1" p. sg Ka)K-a cym-a
CTpEIsi-M
3Ha-51 Opo-si
geT-e-1II BHI-11-111
; KyILyBa-Iil
2" p. sg KasK-e-1I1 CYII-11- I
CTpEJIsi-II
3Ha-e-111 Opo-11-111
qer-e- BHI-11-
rd ynysa-
37 p.sg KaX-e- CYIII-i-
; CTpesi-
3Ha-e- PO-1i-
ger-e-M BU-11-M KyIyBa-
st Me
I p.pl KaX-e-M CyII-11-M

cTpensi-




3H§' -M 6p0_ -M Me
qeT-e-Te BUJI-11-T€
B KynyBa-
2" . pl Kaxk-e-Te cym-i-re |'¢
3Ha-e-Te 6po-11-Te cTpensi-Te
ucT-arT BUJI-SIT
KyILyBa-T
3 p.pl Kax-aT cym-at
CTpEJA-T
3HA-AT Opo-aT
Imperfect

The imperfect (MuHa10 HecBBLpIIEHO BpeMe) is a past tense that is used alongside
the aorist to express:

o An action that is simultaneous to some other action in the past:

Koraro ce BbpHax (Aor.), Enuna (ome) cneme (Imp.).
When I came back Elitza was (still) sleeping.

o An action that was habitual or regularly repeated in the past:

Te decTo ce kapaxa. KaTo CTyIeHTKa 4eTsX MHOTO.
They often (used to) quarreled. When I was a student I used to read a lot.

As you can see from the examples the Bulgarian imperfect tense is very often
translated in English with the past progressive tense when we refer to
uncompleted actions that are presented as a developing process at some
intermediate stage. The action (presented as a process) that has started in the past is
not necessarily uncompleted. The form itself gives no information whether the
action still continues or is already terminated:



- Munanata roguna Enuna Bce ome skuBeenie B Codus. Oriie 1 xKuBee Tam?
- Jla, omie xuBee TaMm. / He, Beue He xuBee B Codusl.

- Last year Elitza was still living in Sofia. Is she still living there?

- Yes, she is still living there. / No, she no longer lives in Sofia.

Sometimes it is translated with the past simple tense when we refer to a habitual or
regularly repeated action in the past which every time was completed and then
repeated again.

The imperfective verbs can be used freely in the imperfect tense. The perfective
verbs can be used in the imperfect tense with the same restrictions that are valid for
their use in the present tense. This is one of the reasons the imperfect tense to be
called also "present in the past".

The imperfect tense forms for the verbs that belong to the 1% and the 2™
conjugations are constructed by adding the suffix -E-/-#I- (mutating 5I) to the
present-tense stem. After the stem are added the personal endings for the simple
past tenses -X, -LIE, -IIIE, -XME, -XTE, -XA. The easiest way to do this is to
remove the ending from the form for the 1% person sg for the present tense, and
then add the suffix and the proper personal ending:

4eT-a (to read) >4eTsi- (4eTe-); Kaxk-a (to say) >Kake-; CKpHU-A (to hide) >ckpuec-; 3Ha-
11 (to know) >3Hae-;

BUJI-AI (to see) >BHIe->;CYII-a (to dry) >cymma- (cymre-)>;6po-1i (to count )>6posi-
(6poe-);

The imperfect tense forms for the verbs that belong to the 3™ conjugation are
constructed by adding the personal endings for the simple past tenses directly to
the present-tense stem:

KYIIyBa-M (to buy) >KymnyBa-; CTpe/Ia-M (to shoot) >CTpeIs-;

In the table below you will see the full dparadigms for the imperfect tense of verbs
that belong to the 1%, the 2" and the 3™ conjugation:

IMPERFECT (PRESENT IN THE PAST)

Form ‘ 1°* conjugation ‘ 2"! conjugation 3" conjugation
qeT-51-X BHJI-€-X
KyITyBa-x
1% p. sg [Kax-e-x cymr-a-xt
CTpEIis-X
CKpH-€-X Opo-s1-x
2" p. sg |[uer-e-mme BUJI-¢-111e KyIyBa- Iie
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KaXK-e- 111e CyII-e-111e CTpeisi- e
CKpH-c-111e Opo-e-111e
qeT-e-11e BUJI-C-111e
» KyITyBa- e
3" p. sg |kax-e-1e CyII-e-1i1e
CTpeJIsi- 111e
CKpH-e-111e Opo-e-111e
qeT-si-XMe BUJI-C-XMe
KyITyBa-xme
1 p.pl |[Kaxk-e-xme CyII-2-XMe
CTpelsi-xme
CKpH-¢-XMe Opo-si-xme
qeT-si-XTe BUJI-C-XTe
KyIlyBa-xXTe
2" p. pl [kax-e-xTe CYII-a-XTe
CTpEJIsi-XTe
CKpH-¢-XTe Opo-si-xTe
qeT-51-Xa BUJI-C-Xa
» KyITyBa-xa
3 p.pl |kaxk-e-xa CyII-a-Xa
cTpessi-xa
CKpH-¢-Xa Opo-si-xa
Aorist

Bulgarian aorist (MuHaJ10 cBbpIIEHO Bpeme) is a simple past tense that 1s
predominantly used for narration. Both the perfective and the imperfective forms
can be used in the aorist without any restrictions:

Bugepa crnenoben ce mpudpax (¢B.B.) KkbM 3 yaca. bgx MHOro ymopeHa u Jiernax
(cB.B.) na crg. Cnax (HecB.B.) 710 5 yaca, cjie/] TOBa 4€T0X (HeCB.B.) MAJIKO,



Hanucax (CB.B.) €IHO MHCMO, Be4epsax (HeCB.B.), IJie1ax (HeCB.B.) TEJICBU3HSIL.

O0anux ce (cB.B.) Ha Enunia v roBopux (HecB.B.) C HES OKOJIO €/IMH Yac.

Yesterday I came (perfective) home about 3 o'clock in the afternoon. I was very tired and
lied down (perfective) for a nap. I slept (imperfective) until 5 o'clock, after that I read
(imperfective) a bit, [ wrote (perfective) one letter, ate (imperfective) supper, and
watched (imperfective) TV. I phoned (perfective) Elitza and spoke (imperfective) with her
about an hour.

The forms for aorist are constructed by adding the personal endings for the simple
past tenses to a special stem of the verb called aorist (or infinitive) stem. From
this stem are derived also some of the participles and the infinitive (when there was
an infinitive in Bulgarian). There is, unfortunately, no practical rule how to
determine the aorist stems for the verbs that belong to the 1% and the 2™
conjugations if you use as a starting point the present-tense stem. The aorist stem
of the verbs that belong to the 3™ conjugation is the same as the present-tense stem.
The past-tense personal endings are the same that are used for the imperfect tense,
only the ending -mme is not added to the forms for the 2™ and the 3™ person sg.
Here are some examples:

AORIST
Form 1°* conjugation 2" conjugation 3" conjugation
Y4ETO-X BUJISA-X
KyIyBa-x
1% p.sg |Kaza-x CYIIH-X
CTpEISI-X
CKpH-X Opom-x
qere- BUH-
KyryBa-
2" p. sg [Kaza- CyIIIH-
CTpets-
CKpU- Opom-
UeTe- BUISA-
KyryBa-
3" p. sg |kaza- CyILIH-
CTpeIis-
CKpH- Opom-
Y4eTO-XMe BUJIA-XMe
KyIyBa-xme
1*p.pl |kaza-xme CyIIH-XMe
CTpess-XxMe
CKpH-XMe Opom-xme
2" p. pl |uero-xre BH/ISI-XTe KyIyBa-XTe




Kaza-xTe CYIIIH-XTe CTpEIsA-XTe
CKpHU-XTe Opou-xTe
4eTO-Xa BH/IS-XA
» KyITyBa-Xxa
3% p.pl |[kaza-xa CYIIH-Xa
CTpens-xa
CKpHU-Xa Opom-xa
Mood:

Imperative and Conditional

The Imperative (moBeJJUTEJTHO HAKJIOHEHHE)

If you want to ask or make somebody do something you have to use the forms for
the imperative mood. There are special simple forms for the imperative only for
the 2™ person sg and pl. There are, however, other ways of expressing commands
and orders for all the persons in the singular and the plural. We'll go back to them
later. Now, here is a practical rule how to construct the simple forms for the

imperative:

« Take the form for the 1* person sg, present tense, and remove the personal

ending:

4eT|a (to read) > vet-
nasH|a (to fall) > majH-
KaX|a (to say) > Kax-
nuiija (to write) > MUII-
Kym|s (to buy) > Kyn-

MOJI|s (to ask, to beg) > MOJI-
yula (to study) > yu-

A (to drink) > mH-
KUBE|4 (to live) > KuBe-
CTO|4 (to stand) > CcTO-
UIBA|M (to come) > UIBa-
CTpeJif|M (to shoot) > cTpes-




o a) If the stem (what is left when you have removed the suffix) ends in a
consonant add the following endings: -1 for the 2" person sg and -ere for
the 2™ person pl. Remember that the stress always falls on the ending -u
and on the first e from the ending -eTe. Here are some examples (the
accented vowel is underlined):

4eT- + -u/-eTe > yern!/yerere!
najH- + -u/-ere > najaHu!/maaHere!
KaXk- + -H/-eTe > KaKku!/Kaxere!
IIUII- + -H/-€Te > MUIIM !/ mumere!
KyII- + -p/-ere > Kynu!/Kynere!
MOJI- + -i/-eTe > MoJu!/MoJiere!
yu- + -u/-eTe > yun!/yqere!

« b) If the stem ends in a vowel add the following endings: -ii for the 2™
person sg and -iite for the 2™ person pl (the stress is never on the ending):

M- + -i/-iTe > nuii!/muiire!

KuUBe- + -ii/-iiTe > :KuBeil!/;kuBeiiTe!

cTO- + -ii/-iiTe > cToii!/cToiiTe!

ujBa- + -ii/-iiTe > uaBaii!/maBaiire!
CTpeJis- + -il/-iTe > cTpessii!/cTpensiite!

There are also some exceptions:

BUJIA (to see) > BHIK!/BHKTE!

BJIsA3a (to come in, to enter) > BJIe3!/BJIe3TeE!

n3JIs3a (to go out, to exit) > u3je3!/m3ie3re!

cisi3a (to come/get down, to descend) > cJie3!/ciie3re!
noiaa (to come) > esial/enare!

otyjaa (to go) > uau!/maere!

nbpika (do hold) > npbik!/apbaxre!

CBbM (to be) > Obau!/0ObaeTe!

It is a curious fact that the verbs Mora (can, be able to) and ma (want) haven't got at
all forms for the imperative. You can use the imperative forms of some other, close
in meaning, verb like ymest (can, be able, know how to) and uckam (want).

The negative forms for the imperative are constructed by adding the negative
particle HE in front of the positive imperative form. However, the negative forms
for the perfective forms cannot be used. The negative forms for the corresponding
imperfective form is used instead:

Kaka > Kaxu!/kaxere!; He ka3Baii!/He ka3Baiite!



Ka3BaM > Ka3Baii!/ka3BaiiTe!; He Ka3Baii!/He Ka3BaiiTe!

W3NHUA > U3NUil!/u3nuiite!; He M3NUBaii!/He M3NMuUBaiiTe!
HU3NHUBaM > u3nuBai!/m3nusaiire!; He u3nuBaii!/nHe nsnupaiire!
noiina > enal/enare!; He uaBaii!/ne uasaiire!

HIBaM > MABai!/maBaiite!; He uaBaii!/ne uasaiire!

otuaa > uam!/maere!; He oruBaii!/He oruBaiire!

OTHBAM > OTHBAii!/oTuBaliTe!; He oTHBAIl!/He oTHBaliTE!
U3Js13a > u3Jje3!/m3ne3re!; He u3nu3aii!/He usam3aire!

U3JM3aM > u3Ju3ai!/usamn3aiire!; He nznu3aii!/ne usamnsaiire!



Some Non-finite Verb Forms:
Verbal Adverbs
Verbal Nouns with the Suffixes -HE, -HUE

There are four fully developed participles in Bulgarian and the present passive
participle is in a process of restoring its place in the system. However, we'll talk in
details about the participles later. Now we'll look at two other non-finite verb
forms - the verbal adverbs (called in English also adverbal participles and even
gerunds) (meenpuyactus) and the verbal nouns with the suffixes -HE, -HUE
(OTTJIArQJIHM ChIECTBUTEHHU ChC CYPUKCH -He, -HHE).

The verbal adverb doesn't change at all and it denotes an action that is
simultaneous to the action of the verb-predicate. It always has the same subject as
the verb. Here are some examples:

Te npekapBaxa BEUEpUTE CH, TJIeMANKH TEICBU3US WU IT'OBOPENKH 32 MOJUTHUKA.
They (used to) spend their evenings watching TV or talking politics.

Jleniata THYaxa U3 yYWIHIIHUSA IBOP, CMEEHKH €€ 1 BAUTAUKHU CTPAILICH IIYM.
The children were running around the school yard laughing and making terrible noise.

It is not advisable to use a lot of verbal adverbs. You can substitute them with a
clause containing a finite verb form:

Te IMpEKapBaxa BEUCPUTC CH, KaTO IJielaxa TCICBU3NA NIIK TOBOpPE€Xa 3a

MOJIUTHKA.
They (used to) spend their evenings watching TV or talking politics.

Jleniata TU4axa U3 yIYWIHIIHUAS IBOP, CMEeXa ce U BAUraxa cTpaiieH mym. /
Jleniara TUYaxa U3 YYWIMIIHMS ABOP, KaTO ce cMeexXa U BAUraxa CTpalieH IIyM.
The children were running around the school yard, (were) laughing and (were) making
terrible noise. / The children were running around the school yard laughing and making
terrible noise.

As you can see the verbal adverb is translated in English with an -ing form (which,
when used more like a verb in English, is sometimes called present participle). The
verbal nouns with the suffix -HE are also translated in English with an -ing form
(that one which is often called gerund and is used more like a noun).

The forms of the verbal adverbs are derived only from imperfective verb stems.
They are built by adding the suffix -UKH to the present-tense stem of the verb.
The suffix is added directly to the stems of the verbs that belong to the 1st and the




3" conjugation. For the verbs that belong to the 2™ conjugation the stem vowel is
replaced with E and then the suffix is added. For practical purposes we can assume
also that the form for the verbal adverb is constructed by adding the suffix -UKH
directly to the imperfect-tense stem but then you have to remember that the stem
vowel -SI-/-E- is always in -E- variant because of the front vowel M in the suffix,
i.e. you have to take the variant of the stem that appears in the 2™ or the 3™ person
sg. Here are some examples:

 using the present-tense stem:

qeTe| > yeTe+HKH > YeTeHKH (reading)

MayKe|Ill > MaXke+ WKH > MaKEeHKH (smearing, spreading)
3Hae|1I > 3Hae+UKU > 3HACHKH (knowing)

MOJTH|1IT > MOJTe+IAKH > MOJIEHKH (begging, asking)
CYIIH|II > CyIIe+HAKH > CyIIeHKH (drying)

Opou|ur > Opoe+iku > OPOEHKH (counting)

KyIyBa|l > KylyBa+HWKH > KylyBailku (buying)
CTpPEJIS|II > CTPENSA+UKH > CTPEIISHKH (shooting)

« using the imperfect-tense stem:

yeTe|e > yeTe+Hiku > 4eTeiku
Maxke|1e > Maxe+ WK1 > MakeHKH
3Hae|1e > 3Hae+iKu > 3HaCHKU
MoJIe|1Ie > MoJIe+HKH > MOJIEHKH
cynuie|ie > cyme+iku > Cylmenku
Opoe|mie > Opoe+iiku > Opoeiku
KYIYBa|IlIe > KyllyBa+iKu > KylyBalku
CTpesi|ie > CTPENs+UKK > CTPENISTUKH

The verbal nouns with the suffixes -HE, -HUE are translated in English usually
with a gerund (-ing form) and they denote actions or states with no regard to any
possible subject of the action or the state. Here are some examples:

IIymenero e BpeaHo 3a 31paBero. LBersTa uMar Hy)K/1a OT MOJIUBaHe.

Cn0paHmneTo € HacCpOUEHO 3a yTpe. AapTaMEHTHT UMa NAPHO OTOIJICHHE.
Smoking is bad for the health. The flowers need watering. The meeting is scheduled for
tomorrow. The flat has central heating.

The verbal nouns with the suffixes -HE, -HUE are considered to be non-finite
verbal forms, 1.e. part of the verbal paradigm, because, unlike other verbal nouns
that are derived sporadically, the verbal nouns with the suffix -HE are derived
regularly from all the imperfective verb stems. They describe the action or the
state as a process, and are "more verbal" than the verbal nouns with the suffix -



HHME. From some verbs both verbal nouns - with the suffixes -HE and -HUE - can
be derived. Here are some examples:

IbpiKa > abprkal e; appakanme (holding; behaviour)
3HadA > 3Haer ¢; 3Hanme (knowing; knowledge)
MbJI4a > MbJIYali ¢; MbJI4aHue (silence)

MHUIIa > nUcalic; mucanme (writing; scripture)
cTpagam > crpajaric; crpaganme (suffering)
TBOPS > TBOpPE!i¢; TBOPEHHUE (creation)

The verbal nouns with the suffix -HUE are more or less sporadic and they are
derived from both the imperfective and the perfective stems. They have deep roots
in the history of Bulgarian. Most of them are derived from the aorist stems that
existed on an earlier stage of the development of the language. They have forms
for the plural and can join the definite article. Here are some examples:

chOepa > crOpaHme (meeting)

3aKbCHEA > 3aKbCHEHM € (delay)

OTMBCTH > OTMBIIEHHUE (revenge)

MIPUHYIS > NPUHYKICHUE (compultion)

OCBETH > ocBeTJIeHME (lighting)

peacTaBss > npeacraBjienue (performance, show)
ropass > nopas;keHue (defeat)

Ipocst > MpomIeHMe (petition)

Historically the verbal nouns with the suffix -HE are derived from the imperfective
aorist stems and are related to the past passive participle which is clear from the
suffix -H-. However, for practical purposes, it is easier nowadays to derive some of
them from the imperfect-tense stem. Here are some practical rules and some
examples:

« Ifthe verb belongs to the 1% conjugation and ends in -HA, derive the verbal
noun by adding -HE to the imperfect-tense stem. Most of these verbs are
perfective and you cannot derive a verbal noun with the suffix -HE from
them. There are, however, about twenty verbs that are imperfective, like
OpbCHa, BexHa, TaCHA, Mpb3Ha, MbKHA, IIEMHA etc.:

OpbCHa > OpbCHE|X > OpbCHEHE (shaving)
Mpb3Ha > MpB3HE|X > Mpb3HEHe (freezing)
IIEITHA > MIEMHE|X > HIEMHEeHe (whispering)

« Ifthe verb belongs to the 1% or the 2" conjugations and the stem ends in a
vowel (before the stem vowel e or m), derive the verbal noun by adding -HE
to the imperfect-tense stem:



Opos > O6pos|x > OpoeHe (counting)
KUBES > )KUBee|X > kuBeeHe (living)
3Has > 3Hae|X > 3HacHe (knowing)
MU > MHE|X > MHEHe (washing)

nes > neejx > neene (drinking)

CTpos > cTpog|X > cTpoeHe (building)

o In all other cases derive the verbal noun by adding -HE to the aorist stem.
If the vowel in front of the -X is different from -A- or -5I- replace it with an
-E-:

Oepa > Opa|x > OpaHe (picking)

Maka > Ma3alXx > Ma3aHe (smearing, spreading)
TMHUITIa > THCAlX > TUcaHe (writing)

iava > 1uiakalX > riakaHe (crying, weeping)
CTpHDKA > CTpUralx > crpurase (hair cutting)
rops > rops|x > ropese (burning)

Jexa > jexalx > jexxane (lying)

JeTs > netslX > neteHe (flying)

MBJT4a > MbJT4Ya|X > MbJIYaHe (silence)

cend > cefif|X > celeHe (sitting)

BHUKaM > BHUKa|X > BHUKaHe (shouting)
CTpPEJISIM > CTPEJIsA|X > CTpesisiHe (shooting)
MOJISI > MOJTH|X > MoJieHe (begging, asking)
CylIa > CymH|x > cyieHe (drying)

TIeTa > MIETO|X > 1uieTeHe (knitting)

YyeTa > 4eTo|X > yeTeHe (reading)

The verbal nouns with the suffix -HE can join the definite article and have forms
for the plural. Some of them have two forms for the plural - one that follows the
exceptions-model for constructing the plural forms for nouns that belong to the
neuter gender, and one that follows the rule for constructing the plural forms for
the nouns that belong to the neuter gender:

| SG | PL

‘ Undefined ‘ Defined ‘ Undefined ‘ Defined
‘6p§CHeH (shaving) ‘6p§CHCHCTO ‘6p§CHeHI/IH ‘6p§CHeHI/I}ITa

MHEH (washing) MHECHETO MHUEHETA/MUCHMSI |MHUCHETATa/MUCHUATA
JIalmaH (payment) [IJIAIIAHETO IJIaIaHust IUTANIAHUATA
‘CTpQJIHH (shooting) ‘CTpQJ'IHHCTO ‘CTpQJ'IHHI/Iﬂ ‘CTpQJISIHI/ISITa
‘CTpOQH (building) ‘CTpOQHeTO ‘(CTpOQHl/IH) ‘(CTpOQHI/IHTa)

“-IQTCH (reading) "—IQTGHGTO “-IQTCHI/IH "—IQTGHI/ISITa
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Present Active Participle

The present active participle (ceramHo aesitejiHo npuyactue) is relatively new in
the history of contemporary Bulgarian. It existed in Old Bulgarian, then
disappeared, and later was reintroduced into the language from Russian and
Church-Slavic when the standards of contemporary Bulgarian were being set up.

It is derived from the present-tense stem (only imperfective stems) but for
practical purposes it is easier to derive it from the corresponding imperfect-tense
stem (which doesn't contradict to what was said above). The ending -X in the form
for the imperfect tense, 1¥ person sg is replaced by the suffix -III (-LLIA for the
feminine, -II1O for the neuter and -II{U for the plural). Here are some examples:

yeTa (to read) > 4eTd|X > yeTd|iil, -, -1y , -1y (reading)

m1aya (to cry, to weep) > Ijade|x > miadge|i, -ma, -1 , -IM (crying, weeping)
pexa (to cut) > pexe|X > pexel|i, -1a, -1 , -1 (cutting)

IHUIIA (to write) > TMHIIE|X > THUIIe|111, -1a, -1 , -IIu (writing)

s (to drink) > mue|x > mue|iil, -1a, -y , -1 (drinking)

KaHs (to invite) > KaHe|x > KaHe|iil , -1a, -1 , KaHeww (inviting)
ces (to sit) > cemd|x > ces|in, -1, -1 , LK (sitting)

MOJIA (to ask, to beg) > MoJe|x > more|iil, -1ma, -1 , -y (begging)
y4a (to study) > yde|x > yde|ii, -1ua, -m1 , -1u (studying)

cyma (to dry) > cymalx > cymalir’, -ma, -m , - (drying)

cTo4 (to stand) > cTOs|X > cTOs|111, -1, -1 , -IH (standing)

HUMaM (to have) > uMalx > umalii, -ma, -1 , -1 (having)

CTpPEJISIM (to shoot) > CTpeJIs|X > cTpess|ii, -Iua, -I1 , -1 (shooting)
HJIBaM (to come) > UABA|X > UABA|I11, 1A, -1 , -II[U (coming)
KYIyBaM (to buy) > KymyBa|X > KymmyBa|iii, -ma, -11 , - (buying)

It should pointed out that the -e-/-s1- sound (mutating 5I) in the imperfect-tense
stem of the verbs that belong to the 1** and the 2" conjugations follows "double
standards". As far as the formation of the imperfect-tense stem is concerned, it
follows the rules for the mutating of fI. But after you derive the participle by
adding the suffix -IIl, it no longer obeys the rules. Here are some examples:
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iaya > miade|x > miave|m, miadeiusi(T), Iiadenu
pexa > pexe|Xx > pexe|ll, peKeImusi(T), peKenu
MyUIIa > MyIie|X > Muiie|m, TUIenusi(T), MU
US> MUe|X > nue|m, TUenms(T), THeu

MOJI > MOJIE|X > MoJie|i, MOJIeIMsI(T), MOJICIIH
y4da > yde|x > yue|ur, ydemmsi(T), yueuu

When the verb has the suffix in -e- variant in its imperfect-tense stem as in the
examples above there is no formal problem - the form for masculine with article
and the form for plural preserve the -e- and this doesn't contradict the rules for
mutation of the "aT'"-sound.

But when the stress falls on the suffix it is in -s1- variant (-a- if the sound in front of
the vowel is 4, K, 1111) in the imperfect-tense stem. Still, it doesn't change into -e-
when the forms for the plural or for the masculine with the definite article are
constructed despite the fact that the next syllable contains a front vowel:

gyeTa > 4yeTs|X > 4eTs |11, YeTAITUAIT, YeTAIIH
ces > ces|x > ceng|i, CeAAMSAT, CesiIu
CTO4 > CTOS|X > CTOS|11l, CTOSIITUSIT, CTOSIIIIA
cyma > cymia|x > cymalu, cymaums(t), cymarm'

The present active participle is used only attributively. It denotes an active feature
of the object it refers to, 1.e. that the object is engaged in activity denoted by the
verb stem. For example, "neemoro momuue'(the singing girl) means that the girl
sings. The name present active participle is not very precise because the activity
may have taken place in the past or may be due in the future. It is rather a
simultaneous active participle, for example:

[Ipenu monoBUH Yac BUASX B rpajiHaTa HAKOJIKO MTPAENIH JeIa, HO Cera HaMa

HHUKOTO.
Half an hour ago I saw in the garden several playing children but there is no one now. (The
children were playing simultaneously to my seeing them half an hour ago, not now.)

OTTyK BHKIAM J00pe Urpaemmre Jera.
From here I can see well the playing children. (The children are playing now simultaneously
to my seeing them now.)

Koraro Bnie3zent B napka, me BHAMII JI0 €3€pOTO HIKOJIIKO UTPAelH Je1a.
When you enter the park you'll see next to the lake several playing children. (The children
will be playing in the future.)

The present active participle behaves like an adjective, agrees in gender and
number with the noun it defines, and the negative particle HE is written always
together with the participle. It can join the definite article, if needed. Here are
some examples:
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YmMmupaniaTa crapa »K€Ha U3BbpHA KbM BJIM3AIIMSA CBCILICHUK HEBIDKIAIUTE CU
OYH Y IPOTErHa TPEUEPELINTE CH PBIE.

The dying old lady turned towards the incoming priest her unseeing eyes and reached out
with her trembling hands.

Aorist Participle

The aorist participle (MUHA10 CBBLPIIIEHO JeSiTe/IHO pUYacTue) is one of the two
past active participles in Bulgarian. As a general rule, is formed by adding -1 for
masculine, -ja for feminine, -1 for neuter, -au for plural to the aorist stem of the
verb. As a practical rule you can remember that the aorist stem of the verb is what
is left after you remove the ending -X from the form for the 1% person sg in the
aorist. Here are some examples how you construct the aorist participle:

nasHalx (I fell) > maaHas, majaHaga, aaHaa , nagHadim (fallen)
/X (I drank) > myJ1, TAJIA, TAJ , TTAJIN (drunk)

Bug|X (I saw) > BUJIS/1, BUASIIA, BUJIAT Bnﬂgﬂnl(seen)
unBa|x (I came) > uaBa’i, uaBaJa, UaBAJI , UABAJIM (come pp)

Naturally, there are some exceptions. These are mainly verbs that end in -OX in
the aorist, the 1% person sg. There are two such groups:

« verbs that in the present tense have the stress on the ending (the stressed
vowel is underlined) and the stem ends in -T, -JI. In this case you have to
remove not only the personal ending for the 1% person sg for the aorist -X,
but also the suffix -O- and the final consonant of the stem, i.e. -T, -JI. In
other words you have to remove the whole -Tox or -gox lot:

4eT|a, (to read) > 4eTOX > Ye1, yena, 4ell , 4yesm (read)

ieT|a (to knit) > TIETOX > TUI/I, TUIEA, e , Tuieau (knitted)

npeBe/Ia (to translate) > IPEBEIOX > IPEBE.1, MIPEBEJIa, MPEBENl , MPEBEIH (translated)
(s1mM), siajetn (to eat) > sMOX > si1, sIa, A1, SN (eaten)

(mam), maale (to give) > Iamox > xasi, Aajia, jain , Jaim(given)

« verbs that have in present tense a stem that ends in -K, -3, -C, regardless of
the stress. In this case you have to remove not only the personal ending for
the 1* person sg in the aorist -X, but also the suffix -O-, i.e. the whole -ox
lot. Then you can add the suffixes for the aorist participle -1 for the
masculine, -sa for the feminine, -1 for the neuter, -su for the plural. But
there is yet another thing to be done - as consonant combinations like k.1,
3J1, ¢JI cannot stay at the end of the word, you have to insert an -'b- in front
of the suffix -1 in the form for the masculine:
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peKa (to say) > pEKOX > peKb.I, pEKa, PEeKIl , PEKIIH (said pp)
BJIsA3a (to come in, to enter) > BJIA30X > BiIA3b./1, BIA3J1A, BJIA3T BJIQ?,J'II/Il (entered)
JIoHeca (to bring) > TOHECOX > JIOHECH.I, JIOHECIA, JOHECTT , JOHECTU(brought)

o To the irregularities also belong the verbs ¢sM, ma, otuaa, noina:

CBhM (to be) > O6u|x > Ou1, Ouna, 6mn , 6uiu (been)

1A (to want) > IIs|X > mIsi1, mgma, I ngml (wanted)

otuaa (to go) > OTUAOX > OTUIIBJI, OTUIILIA, OTUIIUT , OTUIILIA (gone)
Jona (to come) > TOMI0X > AOIIbJI, TOULIA, TOULT , TOUUIM(come pp)

The aorist participles are used widely. They constitute a part of the form for the
perfect tenses, as well as of some of the forms for the reported mood. Besides, just
like the adjectives, they can have attributive and predicative use. If the participle is
a part of a complex verb form, e.g. of the reported mood, the negative particle HE
1s written separately form the participle. In case of attributive use the negative
particle HE is written together with the participle. The aorist participles can also
join the definite article, if needed:

Bede 0gx pemiuJ 1a He yakaM MOBEYE U J1a CH TPhrHa, KOraro Hal-Hakpas Mapus
fonze.
I had already decided not to wait any longer and leave when Maria finally came.

[IpuHIlecaTa He MCKAaJIa /12 C€ O’KEHU 3a MPOCSIKA, HO HUIIIO He MOKeJIa J1a
HaIIpaBHU.
The princess didn't want to marry the beggar but there was nothing she could do about it.

lN'onuHata 6mJIa CTy/IeHa M YEPEIINTE He y3pesu /10 Kpas Ha 1oiu. He sxre
Hey3peJiu 110108 !

The year was cold and the cherries didn't become ripe until the end of July. Don't eat unripe
fruits!

Te ca or1e HeI03pesH 3a TakaBa MbJIPOCT. T€ olle He ca J03peJiM 3a TaKaBa
MBJIPOCT.
They are immature for such wisdom. They haven't reached maturity yet for such wisdom.
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Imperfect Participle

The imperfect participle (MUHAaJ10 HeCBbPIIEHO AeSITEIHO MPUYACTHE) 1S one of
the two past active participles in Bulgarian. It is formed by adding -1 for the
masculine, -ja for the feminine, -i1  for the neuter, -su for the plural (i.e. the same
suffixes that are used for building the aorist participle) to the imperfect-tense stem
of the verb. As a practical rule you can remember that the imperfect-tense stem of
the verb is what is left after you remove the ending -X from the form for the 1%
person sg in the imperfect tense. Here are some examples of how you construct the
imperfect participle:

4eTs|X (< to read) > 9eTs1, YETSIA, YSTAI , qug.]ml

KaXke|X (< to say) > Kaxe/i, KaKeJaa, KaKes , Kaxeau

CKpHE|X (< to hide) > cKpHeJi, CKpHeaa, CKpUeJ , CKpUeJIu
BUJIE|X (< to see) > BUAC.I, BUIEJA, BUACHA , BUICJN

cywa|x (< to dry) > CylIa1, Cylana, Cymai , Cymesm’

Opos|x (< to count) > Opos/1, Oposiia, 6pos |, 6pongl
KYILYBa|X (< to buy) > KymyBaJi, KylyBaJa, KylyBaJ , KyIlyBaJIn

CTpeJIA|X (< to shoot) > CTpeIs/i, CTPEIIsJIa, CTPEIISIT (:Tpgnﬂ.]mé

It should be pointed out that the aorist participles and the imperfect participles of
all the verbs that belong to the 3™ conjugation and some of the verbs that belong to
the 2™ conjugation are identical. This is due to the fact that the suffixes are
identical and when the stems are also identical (that is the case with the above
mentioned verbs) naturally the participles are identical as well. However, they have
different functions and can easily be distinguished in the text.

The imperfect participle does not exist in the other Slavic languages, nor - in Old
Bulgarian. It came into existence later in the history of Bulgarian and it is used
only to construct the forms for the present tense and the imperfect tense in the
reported mood. It is never used as an attribute but nevertheless, as a part of a
complex verb form, it agrees in gender with the subject of the sentence, hence it
has got forms for all the three genders. As it is never used as an attribute it never
joins the definite article, and the negative particle HE is always written separately
form the participle. Here are some examples:

[Ipe3 panHaTa kaMeHHa €IoXa XopaTa »KHBEeJIM B TICIICPU 1 ¢e XPaHeJH C
KaKBOTO HAMEPSIT WIH YJIOBIT. EAMHCTBEHUTE TOMAIIIHH >KMBOTHU OMJIM Ky4eTaTa.

In the early Stone Age the people lived in caves and ate whatever they could find or hunt.
The only domestic animals were dogs.
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Past Passive Participle

The past passive participle (MHHAJIO cTpaaaTeIHO pUYacTHe) is another non-
finite form of the verb that is formed from the aorist stem. Past passive participles
are regularly formed from transitive verbs (and for some intransitive verbs - only
forms for neuter) by replacing the personal ending for the aorist, 1* person sg -X,
with the suffix -H (-HA for the feminine, -H  for the neuter and -HU for the
plural) or the suffix -T (-TA for the feminine, -T  for the neuter, -TU for the
plural). Here are some practical rules how to do this:

« Ifthe verb belongs to the 1% conjugation and ends in -HA, add the suffix -T:

OpbCHA (to shave) > OpbcHa|x > OpbCHA|T, -Ta, -T , -TH (shaven)

BJIUTHA (to lift, to raise) > BAUTHA|X > BAUTHA|T, -Ta, -T , -TH (lifted, raised pp)
METHa (to throw) > METHA|X > METHA|T, -Ta, -T , -TH (thrown)

CMETHa (to count; to consider) > cMETHa|X > cMeTHa|T, -Ta, -T , -TH (counted;
considered pp)

CIIOMEHA (to mention) > CIIOMEHA|X > CIIOMEHA|T, -Ta, -T , -TU (mentioned pp)
CTUTHA (to reach) > CTUTHA|X > CTUTHA|T, -Ta, -T , -TU (reached pp

« Ifthe verb belongs to the 1* conjugation and the stem ends in a vowel
(before the stem vowel), add the suffix -T. This rule applies only to
disyllabic verbs and their prefixed derivatives, e.g. Musi, u3mus, nus,
aonusi, u3nus etc., but not kuBesi:

Ous (to beat) > Ou|x > Om|T, -Ta, -T , -TH (beaten)

MUS (to wash) > MHU|X > MHU|T, -Ta, -T , -TH (washed pp)

M3Mus (to wash out) > M3MHU|X > U3MH|T, -Ta, -T , -TH (washed out pp)

s (to drink) > mu|X > |1, -TQ, -T , -TH (drunk)

Jomus (to drink up) > J0mH|X > K0oMH|T, -Ta, -T , -THU (drunk (up))

n3MHsA (to drink up) > U3MH|X > U3MH]|T, -TA, -T , -TH (drunk (up))

aest (pour) > JsX > nd|T, agTA, IAT nerut (poured pp)

H3JIeST (pour out) > M3JISA|X > M3JIs|T, MU3IIATA, U3JIAT , U3IeTH: (poured out pp)
e (to sing) > ms|X > 1|1, ngTAa, AT HgTul (sung)

u3mnes (sing (to the end)) > U3Md|T > U3M4| T, U3NATA, U3MAT H3H§Tnl (sung (to the
end))

o In all other cases add the suffix -H. If the vowel in front of the -X is
different form -A- or -$I- replace it with an -E-:

BU/JIA (to see) > BUAMA|X > BUJ|H, -HA, -H , BU/IEHN (seen)
rienaM (to look) > rienalx > rienalu, -Ha, -H , -HM (looked pp)
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KUBES (to live) > KUBS|X > KuBs|H, -HA, -H , )KI/IBQHI/Il (lived pp)
n3oepa (to choose) > n3bpalx > uzdpali, -Ha, -H , -HU (chosen)
nuiia (to write) > nmuca|x > nucalu, -Ha, -H , -HU (written)

crpa (to stop) > crps|x > crp4|i, -Ha, -H , cnngul (stopped pp)
naMm (to give) > 1aio0|x > aanae|u, -Ha, -H , -HU (given)

JIoHeca (to bring) > TOHECO|X > JTOHECe|H, -Ha, -H , -HU (brought pp)
yeTa (to read) > 4eTo[X > yere|H, -Ha, -H , -HU (read pp)

MOJIA (to ask, to beg) > MoH|X > MoJie|i, -Ha, -H , -HU (asked pp)
nocTpos (to build) > mocTpom|x > moctpoe|i, -Ha, -H , -HH (built pp)
cuyns (to break) > cuynm|X > cuyne|s, -Ha, -H , -HU (broken)

Pay attention that, contrary to the adjectives, the vowel -E in front of the -H does
not disappear in the forms for the feminine, the neuter and the plural.

The past passive participles are used when the forms for the passive voice are
constructed. They can be used as attributes as well. In such case, like the
adjectives, they agree in gender and number with the noun they refer to and they
can join the definite article, if needed. In such cases the negative particle HE is
written together with the participle:

Henonucanoro nucMo, 0TBOpeHaTa KHUra, 3a0paBeHaTa He3araceHa 1urapa B
NerneIHUuKa - BCUYKO MOKa3Ballle, 4e€ TOM MHOro € Obp3as, KoraTo € U3au3all.

The unfinished letter, the opened book, the unextinguished cigarette forgotten in the ash-
tray - everything showed that he was in a great hurry when he was leaving.

Present Passive Participle

There used to be two passive participles in Bulgarian - the present passive
participle (cerammHo cTpaaatejno mpuyactue) and the past passive participle
(MuHaso crpanarenHo nmpudactue). The present passive participles were derived
form the present-tense stem of the transitive verbs by adding the suffix -M.
However, most of them disappeared and they are no longer considered to be a
separate class of non-finite verb forms. In modern Bulgarian there are just a few of
them. They all end on -M in the masculine (-MA, -MO, -MH for the feminine, the
neuter and the plural) and are considered to be adjectives. Their meaning is close to
the meaning of the English adjectives with the suffix -able. Here are some
examples of present passive participles:



http://www.hf.uio.no/ilos/studier/studenttjenester/Nettressurser/bulg/mat/gram/104phrul.html#mutatJA
http://www.hf.uio.no/ilos/studier/studenttjenester/Nettressurser/bulg/mat/gram/104phrul.html#mutatJA

110051 > mo0uM (beloved), TpeHeca > NPEHOCUM (portable), (HE) y3HaBam >
HEY3HaBaeM (unrecognizable), HaKa)ka > HaKa3yeM (punishable)

There are some practical rules how to derive the forms of the present passive
participles for the verbs that belong to the 2" and the 3™ conjugation:

« Ifthe verb belongs to the 2™ conjugation, add the suffix -M directly to the
stem of the verb:

BHJI|S (to see) > BUJIH- > BHJIM|V, -Ma, -M , -MH (visible)

Bpe|s (to harm) > BpeaM- > (He)Bpeau| v, -Ma, -M , -MH ((un)harmed)

nen|s (to divide) > nemu- > neiu|v, -mMa, -M , -Mu (divisible)

1100|4 (to love) > mo0OM- > mo0m|v, -Ma, -M , -Mu (beloved)

TIOTIPAB| (to repair, to correct) > MOMpPABU- > TMOMPABHU|M, -Ma, -M , -MU (repairable,
corrigible)

MPOCT|s (to pardon) > MPOCTH- > MPOCTH|M, -Ma, -M , -MHU (pardonable)

THPI|A (to bear) > THPIHU- > THPIHU|M, -Ma, -M , -MU (bearable)

yJ0B|4 (to catch) > yJIOBH- > yJIOBH|M, -Ma, -M , -MH (*catchable, possible to catch)
YCTO| (resist) > yCTOM- > yCTOM|M, -Ma, -M , -MH (resistible)

« Ifthe verb belongs to the 3™ conjugation the suffix is not a bare -M, but -
EM:

U3MEHS|M (to change) > U3MEHS- > U3MEHsI|eM, -eMa, -eM , -eMU (changeable)
U3MONI3BA[M (to use) > U3MOJI3BA- > U3IO3BA/eM, -eMa, -eM , -eMHU (usable)

Madka|M (to crease) > Mauka- > Maudkalem, -eMa, -eM , -eMU (*creasible, cf. crease-
proof - HeMaukaem)

TI03HABA|M (to recognize) > IMO3HABa- > MIO3HABA/eM, -eMa, -eM , -eMH (cognizable)
paszoupalM (to understand) > pa3zdbupa- > pa3zoupalevi, -ema, -eM , -eMHu
(understandable)

crbBajM (to fold) > creBa- > crpBajen, -ema, -eM , -eMi (collapsible, folding)
y3HaBa|M (to learn, to find out, to recognize) > y3HaBa- > y3HaBa|eM, -eMa, -eM , -eMH
(recognizable)

If the verb contains the suffix -aBa-/-aiBa- , it is reduced to -a-/-s1-:

(mpomoka(Ba)|M) > MpoMoKa- > MPOMOKa|eM, -eMa, -eM , -eMH (permeable, not
waterproof)

(mponuuia(Ba)|M) > NpoHULIA- > TPOHULI|eM, -eMa, -eM , -eMU (permeable)
pasrino0bs(Ba)|M (to disassemble, to dismount) > pa3rio0s- > pas3riodglev, -ema, -em
-eMH (dismountable)

« It is hard to predict what suffix will take the verbs that belong to the 1*
conjugation - some take the suffix -UM , some take the suffix -YEM. Some
changes to the stem also take place. It is advisable just to learn these



participles as separate words and not to try to derive them from the verb.
Here are some examples:

TOHec|a (to bear) > MOHeC- > MMOHOC|MM, -UMa, -UM , -UMU (bearable)

IpeHec|a (to carry, to transport) > MpeHec- > NPEHOC|HM, -UMa, -UM , -UMHU (portable)
Hakax|a (to punish) > Haka3- > Haka3|yemv, -yeMa, -yeM , -yeMH (punishable)
omuiii|a (to describe) > omnuc- > onuc|yev, -yema, -yem , -yeMu (describable)

The present passive participles can be used as attributes and as predicates, and they
agree in gender and number with the noun they refer to. They can join the definite
article, if needed. Very often they are used in their negative form. The negative
particle HE is always written together with the participle:

XaochT B KJ1acHaTa cTas Oellie HeonmucyeM.
The chaos in the classroom was indescribable.

Toli He obuuarle 1a B3eMa JIeKapcTBa, HO HeMOHOcCUMAaTa OoJka B 360a ro

MIPUHYIU J1a U3IHUE €IUH ACTTUPUH.
He didn't like to take medicines but the unbearable toothache forced him to take an aspirin.

Katina Bontcheva. Elementary Grammar. 1999



